Air Cylinder

B < X

el e CI2

26, 910, 916

Long life, increased by 50% Compact and lightweight: ‘)
(In-house comparison)

The lateral width of the cover has been N/
The mounting accuracy of the cylinder and reduced approximately 10% from the Series CJ2 CJ 1
the wear resistance of the seals have been CJ1 Series. In addition to a weight | Series CJ1 |
improved, thus dramatically increasing the reduction of over 30%, a space- —
cylinder's life to more than 1.5 times that of saving configuration has been CJ P
the CJ1 Series. achieved. —
stance . N oo
Improved wear resistance: Igh Speed actuation possible:
The bearing portions of the rod cover and the T(/ Either the rubbe_r bumper or_the air cushioncanbe  (CM2
clevis have been improved in wear resistance : selected according to the drive speed —
to ensure the longevity of the cylinder. Easy installation: conditions. Therefore, it can support high speed cs5
drives.
Qs The installation is simple because ~ ® Rubber bumper ------ 50 to 750mm/s ——
.. a tool can be placed directly over (Standard equipment) C76
@ the cover for installation. ® Air cushion - 50 to 1000mm/s L
Reduced piston rod deflection: ﬂ
The clearance between the bushing and the piston rod has been decreased to MB
achieve higher accuracy, thus decreasing the deflection of the piston rod. —
Variations MB1
. . iati Bore siz I
Series e Rod Basic _ Standard variations O(rﬁns;) e Page CP95
n%glgl;tr-mlgt ‘ cusAr;Eon ’ Clean ‘ ’Copper free
Standard: CJ2 ® ® ° ° ° 1.32 C95
p Double —
> acting 6
- = Double rod @ L J L L ] @ 1.3-13 C92
J“AA 10 ——
CAl
Single Single rod, 16 = ———
N — ; S @ @ 1.3-20
#—P@j = acting returr?/rér;?end ¢ CSl
Non-rotating rod: %‘éﬁﬁgHSingle rod} ! ° 1.3-30
CJ2K n
" :'//A Single Single rod, Sprmg‘
o acting retun/extend | I I 1.3-35
Built-in speed Single rod @ 1.3-42
controller: CJ2Z Double
=== acting
= Double rod L @ @ 1.3-47
Low friction: CJ2Q
o Doubl 10
o a?:Hnge Single rod @ 1.3-52
Py T 16
Direct mount: CJ2R ggﬁﬁgHSingle rod} ® 1.3-56
‘--""’\’ j—
. -'";:/ Single Single rod, Spring] 1.3-61
a acting return/extend [ o
Non-rotating rod/ Dagﬁﬁlge}—{smgle rod} ° ° 1.3-65
Direct mount: . O
CI2RK g —r—" Single Single rod, Spr
et e &——@ 1369
Made to Order
Applicable auto switch Band mounting Rail mounting Refer to p.5.4-1
for made to order
. D-A7/A8, D-A7CH/A80H .
D-C7/C8, D-C73C/C80C ' '
Reed switch D-A73C/AS0C, D-A79W [():rJoZducts of series
. _ D-F7/37, D-F703V, D-J79C .
Solid state switch | 275, D-H7C D-F70W/I79W, B-F7TOWY, 1.3-1

D-H70W, D-H7BAL, D-H7UF D-F7BAL, D-F70F, D-F7NTL




Standard: Double Acting Single Rod

CJ2

Series

26, 910, 16

How to Order

¢ Standard stroke (mm)

15, 30, 45, 60

15, 30, 45, 60, 75, 100, 125, 150

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

Bore size ¢
6 6mm
10 | 10mm
16 | 16mm 2 6
) 210
Mounting ¢ 216
Basic
Axial foot

Cushion

Front flange

Rubber bumper

o|T|r|w

Double clevis (Except for @6)

A

Air cushion (Except for g6)

Standard CJ2|L (|16 60

| 1 |

WIGETICESTIE CDJ2|L |[16 60

C73

With auto switch
(built-in magnet)

=~

o

Port location on head cover

= 26 210/216
Rail mounting — —  |Perpendicular 90°
R In-line In-line

[Refer to p.1.3-4 for the configuration.

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

® Number of

switches
Auto switch — 2
ORefer to the table below for selecting S 1
applicable auto switches. n n

{JIf requiring a built-in magnet cylinder
without an auto switch, refer to the
model number example below.

Part No. of Cylinder with Built-in Magnet

5 B Load voltage Auto switch model ™ Lead wire" i ) )
Style| Special function Electricalg (ng:[(Inngt) be R Band Rail (210, 16) 0513 5 INone Aplrg::ble Symbol "-A" (rail mounting) or "-B
entry |2 p 2 #6,910.916) perp [ Indine | &) | |@[ N (band mounting) should be suffixed to the
(:-;Nvgulr\le) | sy _ c76 _ |a76H | @ |@|—|—| 1c | — part No. of the cylinder with auto switch.
ey
S Grommet| ¢ —| — |20V | — | A72 |A7T2H | ® (@ |—|—| e Rail mounting | CDJ2B10-45-A
h= — X.
2 _ | 12v | 100V | C73 | A73 |A73H | @ |®|® Band mounting| CDJ2B16-60-B
© No 2 wire 5V, 12v| <100V | C80 | A80 |A80H | @ @ |—|— | IC |Relay
2 comector €1 24v| 12v | — |C73C|A73C| — | o |@|®@|®| — | PLC
No 5V, 12V| <24V | C80C | AB0C | — ® (000 C
D'agn(%ségéﬂt:;camn Grommet |Yes — — — A7TOW | — e e —|—|—
3 wire (NPN) sv v — H7AL |FINV| F79 | @ (@ O|—|
Grommet| | 3 wire (PNP) ' H7A2 | F7/PV | F7P | @ (@ |O|—
- ) — H7B |F7BV | J79 | @ (@ O|—
2 wire
3 Connector 12v — H7C | J79C | — o o006 —
5, | 3 wire (NPN) v 12V H7NW [FINWV|F79W | @ (@ | O |— I
©  |Diagnostic indication . : . _ Relay
g (2 coloun) KL APty H7PW F/PW . ® (@O PLC
g H7BW |FOBWV|J79W | @ | @ | O |—
o N 2 wire 12v
= Water resistant —
3 (2 coloun) | Grommet — |H/BA| — |F/BA|— |@|O|—
With timer 3 wire (NPN) sy 12V — — |FINT | — |@|O|— c
W"“d‘(ggc"(;’,gﬂf"“'p“' 4 wire ' H/NF| — |F/9F | @ (@O |—
h
Lalchwn(zdwci?gf’s)ncoutput (NPN) . H7LE . F/LF | @ |@|O|—| —
OLead wire length 0.5m:-w-e — e.g)C73C [S13 ) EXTSTRPRROS Z e.g.) C73Cz
1) ERPPTRPRRS L C73CL  None:- N C73CN

OSolid state switches marked with" O " are manufactured upon receipt of order.
[ “D-A79W” cannot be mounted on bore size g10 cylinder with air cushion.

1.3-2

O
:



Standard: Double Acting Single Rod Series CJ 2

Specifications

Action Double acting/Single rod
Fluid Air
Proof pressure 1.05MPa
Max. operating pressure 0.7MPa
. . 26 0.12MPa
Min. operating pressure
210, 916 0.06MPa
Ambient and fluid temperature Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C" cJ1
Cushion Rubber bumper/Air cushion I
Lubrication Non-lube CJP
Thread tolerance JIS class 2
Stroke tolerance "0
Piston speed 50 to 750mm/s CM2
26 0.012J —
Allowable kinetic energy 210 0.035J C85
216 0.090J
ONo freezing C76
JIS symbol CG1
Standard Stroke (mm) ———
Double acting/Single rod Bore size Standard stroke MB
6 15, 30, 45, 60
MB1
‘ ‘ 10 15, 30, 45, 60, 75, 100, 125, 150 e —
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 CP95
o C95
d - . . -
Made to Order Minimum Strokes for Auto Switch Mounting ==
i Min.
Refer to p.5.4-1 for made to order Mounting AuUto S(;'wltCh Numbﬁr of strcl)nke C92
products of series CJ2. mode SUIENES (mm)
. 2 (same surface) 50 CA1l
o D_C8 2(different surfaces) 15 —
5 g :
A\ Precautions £ : 10 cs1
3 | Db-H7O 2 (same surface) 60 —
r I, -: E | DHOW 2 (different surfaces) 15
" Be sure to read before handling. Refer to " o B-:ZEQL 1 o
S -
j P-0-39 t(.) 0-46 for Safety . I ) c730 2(same surface) o
1 Instructions and common precautions. 1 26 | p-csoc 2(different surfaces) 15
I.___._____________I 510 | D-HTC I 0
A\ Caution
. 216 2(same surface) 65
’ Mounti ng D-H7LF 2 (different surfaces) 25
(D During installation, secure the rod cover and 1 15
tighten by applying an appropriate tightening D-A7/A8 2 10
ini D-A70H/A80H
force to the retaining nu_t or to the rod cover D-A73C/AB0C 1 5
body. If the head cover is secured or the > | DF7
head cover body is tightened, the cover S | DJ7o 2 5
could rotate, leading to a deviation. ] D-F70V 1 5
(2) Tighten the retaining screws to an g [DbJroC
appropriate tightening torque within the =z | D-ATOW
range given below. x | D-FOW 2 15
26: 2.1 to 2.5Nm, 210: 5.9 to 6.4Nm, &16: =5 | BIrew
10.8 to 11.8Nm D-F7BAL L 10
(3 To remove and install the snap ring for the 216 BE;E;NV
knuckle pin or the clevis pin, use an - >
appropriate pair of pliers (tool for installing a D-F7LF 15
C type snap ring). In particular, use a pair of 1 15

ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the
snap rings on the 10 cylinder.

@ In the case of auto switch rail mounting style,
do not remove the rail that is mounted.
Because the retaining screws extend into the
cylinder, this could lead to an air leak.

1.3-3

O
:



Series CJ2

Mounting Accessories/Refer to p.1.3-12 for details. Port Location on Head Cover
. . . Double ; ; ; ;
Mounting Basic Axial foot |Front flange| ¢jayisD) Either perpendicular to the cylinder axis or
in-line with the cylinder axis is selectable for
- Mounting nut ° ° PS _ basic style. (26 is available only as in-line style.)
]
E Rod end nut ° ° ° °
7 Clevis pin — — — [ J
- Single knuckle joint [ [ ] [ ] [ J
]
= iointD)
8_ Double knuckle joint [ [ ] [ ] [ Perpendicular
T bracket — — — L] .
: — — . Weight ©
ODouble clevis or double knuckle joint are packaged with pins and rings.
Bore size (mm) 6 | 10 | 16
. Basic WeightD 15 | 24 | 55
Mounting Bracket Part No. — ;
- Additional weight for each 15 of stroke | 2 4 | 6.5
Mounting bracket Bore size (mm) S
9 6 10 16 E § Axial foot 8 | 8 |20
Foot CJ-L006B CJ-L010B CJ-L016B § © Front flange 5 5 1|15
Flange CJ-FO06B CJ-F010B CJ-F016B = _‘g Double clevis™ (with pins) | — 4 | 10
T bracket! — CJ-T010B CJ-T016B >
< |Single knuckle joint — | 16 | 22
OT bracket is used with double clevis (D) 3 9 J
) ) . & |Double knuckle joint | — | 24 |19.5
Auto Switch Mounting Bracket Part No. (Band mounting) 3
< |T bracket — | 32 | 50
Bore size
(mm) Bracket part No. Note OThis basic weight includes weights of mounting nut
B12-006 and rod end nut.
6 - Common use to all of M The mounting nut is not attached to the double
10 BJ2-010 D-C7, C8 and D-H7 clevis style, so the mounting nut weight is already
16 BJ2-016 reduced.
[A set of stainless steel mounting screws] calc;latu_on e).(ar?:,p;: CJ120L10'45
Note) A set of stainless steel mounting screws "BBA4" is attached. (A switch as!c. Welg 3 _(Z )
mounting band is not attached. Please order the band separately.) : Adt_j't'onal weight: 4/15 stroke
"BBA4" screws are used for D-C7/C8/H7. * Cylinder stroke: 45 stroke
"D-H7BAL" switch is set on the cylinder with the screws above when * Mounting bracket weight: 8 (Axial foot)
shipped. » 24+4/15 X 45+8=44g

Also, when a switch only is shipped, "BBA4" screws are attached.

Theoretical Force

Refer to the "Double acting cylinder" in Theoretical Force Table 1 of
Technical data 3 on p.5.6-7.

1.3-4

O
:



Standard

With Air Cushion

: Double Acting Single Rod Series CJ 2

CJZ‘ Mounting H Bore size H Stroke ‘A‘

Port location
on head cover

With air cushion

With covers on both sides equipped with the cushion
function, the cylinder absorbs the impact during high-speed
operation.

Clean Series

Specifications

10-(:\]2‘ Mounting H Bore size H Stroke ‘

TCIean series

The rod section of actuator is reinforced with the double-seal
structure. The air cylinder can be incorporated in the system
which directly discharges the external leak from the clean
room through the relief port.

Port location
on head cover

Specifications

Action Double acting/Single rod
Lubrication Non-lube
Bore size 210, 916
Max. operating pressure 0.7MPa -
Min. operating pressure 0.1MPa CJ1l
Piston speed 50 to 1000mm/s —
Mounting Basic, Axial foot, Front CJ P
flange, Double clevis -
CJ2
Cushion Mechanism CM2
Bore size Effective cushion Allowable kinetic
(mm) length (mm) energy (J) c85
10 9.4 0.07J L
16 9.4 0.18J C76
ORefer to p.1.3-6 for the construction. —
CG1
Copper Free 77MB
ZO-CJZ‘ Mounting H Bore size H Stroke H Port location ‘ MB1
Copper free
PP CP95
To eliminate influences of copper ions or halogen ions =
during CRT manufacturing processes, copper and fluorine Cc95
materials are not used as component parts.
C92
CAl
CS1

Specifications

Action Double acting/Single rod Action Double acting/Single rod
Bore size 26, 910, 916 Bore size 26, 910, 916
Max. operating pressure 0.7MPa Max. operating pressure 0.7MPa
26 0.14MPa 26 0.12MPa
Min. operating pressure 210, 016 0.08VPa Min. operating pressure 210, 016 0.06MPa

Cushion Rubber bumper (standard)

Cushion

Rubber bumper (standard)

Standard stroke Same as the standard (Refer to p.1.3-3)

Standard stroke

Same as the standard (Refer to p.1.3-3)

Auto switch Possible to be mounted Auto switch Possible to be mounted
Mountin Basic, Axial foot, Mountin Basic, Axial foot, Front flange,
9 Front flange 9 Double clevis (Except for g6)
Construction Construction
— I H N nm | '
: — =2 = -

1.3-5




Series CJ2

Construction (The cylinder cannot be disassembled.)

CJ2006-R

=

® @

OR)

@012 ®

® ® 0 @

@

CJ2]10, CJ2016

® 0 B3®R

With air cushion

(5)Piston
Magnet

Piston construction in case of
auto switches equipped

(5) Piston

Magnet

Piston construction in case of
auto switches equipped

@3 1

@ ® O @ @@® & @ 06 B a2 /\2,|76
i o
Y
im0 : i i\
2 [

Component Parts

With Air Cushion

OOnly for @6 cylinder

1.3-6

O
:

No. Description Material Note No. Description Material Note
©O) Rod cover Aluminum alloy | White anodized Cushion needle Stainless steel
@) Head cover Aluminum alloy White anodized (B) Steel ball Bearing steel
©) Cylinder tube Stainless steel Cushion ring Brass

@ Piston rod Stainless steel W) Check seal NBR

® Piston Brass Needle seal NBR

® Mounting nut Brass Nickel plated Cushion ring gasket NBR

@ Rod end nut Rolled steel Nickel plated

Bumper Urethane

© Packing retainer Aluminum alloy White anodized

Piston seal NBR

a Rod packing NBR

2 Tube gasket NBR

@3 Piston gasket NBR



Basic (B)

Standard: Double Acting Single Rod Series CJ 2

CJ2B ’ Bore size H Stroke HPort location on head cover

Mounting nut *

CJ2B6 @ -
Rod end nut A Piping port M5 X 0.8
NN \%§ GA Piping port M5 X 0.8 —
MM ) CJ1
[m)] Y —
Q iz =
1 B gy CJP
A FIT[. NA INB|
H S + Stroke
Z + Stroke CM2
2 —
Mounting nut * 2
CJ2B10, 16 £ z C85
Rodendnut NN GA Piping port M5 X 0.8 GB Piping port —
-
MM /M5 X 0.8 C76
D . —
S AN : Z
} vl i J CG1
MB
A F. |l NA NB Port location on
H S + Stroke . head cover: MB1
Z + Stroke In-line (R) —
CP95
C95
With air cushion: CJ2B | Bore size H Stroke \A’Port location on head cover C92
CAl
Port location on . Port location on CS1
head cover: I head cover: -
in-line (R) M Mounting nut l.ws_| In-line (R)
/M5 X 0.8
/ Rod end nut
/ GB
I./ o
: ]
[ = A
[L nB
S + Stroke o
Z + Stroke
' H
Material: Iron
Part No. | Bore B © d H
NTJ-006A] 6 |55 | 6.4 [M3X05] 24
NTJ-010A] 10 [ 7 |81 [M4axo07] 32
NTJ-015A] 16 | 8 | 9.2 [M5x08] 4
ORefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F GA GB H MM NA NB NDh8 NN S T z
6 15 | 12 | 14 3 8 |145| — | 28 | M3X05 | 16 7 6 %08 | MBX10 | 49 | 3 77
10 15 12 14 4 8 8 5 28 M4 X 0.7 12.5 9.5 8_8,022 M8 X 1.0 46 — 74
16 15 18 20 5 8 8 5 28 M5 X 0.8 125 9.5 10 —8.022 M10 X 1.0 47 — 75
With air cushion/bimensions not mentioned in the table below are the same as the above table. ~ (mm)
Bore B C GA GB NA NB WA | WB | WW S z
10 15 17 7.5 6.5 21 20 145 | 135 | 45 65 93
16 18 20 7.5 6.5 21 20 145 | 135 | 55 66 94
1.3-7
ZSNC



Series CJ2

Axial Foot (L)

CJ2L ‘ Bore size H Stroke HPort location on head cover\

CJ2L6 Mounting nut *

Rodendnut NN AF . GA Piping port M5 X 0.8 Cover
& MM @] \ Piping port . surface level
:mH:I-E <A _. /M5X038 ~— =
LH:%:'-HT' 1 ] N - “_r‘_ o & I. 3

Da ':l ;9 ¢ A = _I‘

! LX
Rod cover side Head cover side A X Y [T NA _l‘\l_lg_ Lz 200
H S + Stroke Mounting hole
Z + Stroke d

S +

CJ2L10, 16 :
Mounting nut * ——
Piping port Rodendnut e Fmi S zlﬂr;gxpgré G8 surface level
M5 X 0.8 MM : g '  /
2 & A T 7 F}
] REs Ve ] ' o9 =
VAS < a0 T A0 T[-
‘ LX
A XY NB LZ
Port location on A2 NA
head cover: In-line (R) - H £+ Siibke
i Z + Stroke
With air cushion: CJ2L \ Bore size H Stroke \A\Port location on head cover\
= i :'“4':“5\ |
Port location on ) , = <
head cover: In-line (R)  Mounting nut * =3—%——@&™~
WA
Piping port Rod end nut Cover
M5 X 0.8 GA, Piping port M5 X 0.8 GB surface level
~ Emesw - ~.
NA |
S + Stroke
< Z + Stroke
Rod end nut
d

(o
N

C

1

Lﬁ- - H

Material: Iron

Part No. | Bore B © d H

NTJ-006A 6 55 | 6.4 |M3X0.5] 2.4
NTJ-010A| 10 7 8.1 IM4X0.7| 3.2
NTJ-015A| 16 8 9.2 IM5X08| 4

ORefer to p.1.3-12 for details of the mounting nut.

(mm)
Bore A B | C D|F |GA|[GB| H |LB|LC|LH|LT|LX]|LY]|LZ MM NA | NB NN S| T |[X|Y Z
6 15|12 |14 | 3 8 |145|— |28 | 15| 45| 9 | 16| 24 |16.5]| 32 [M3X05| 16 | 7 [M6X10| 49 | 3 5 7 |77
10 15 |12 |14 | 4 8 8 5 28|15 |45 9 |16 24 |16.5| 32 |M4X0.7/12.5( 9.5 |[M8X 1.0 46 |— | 5 7 |74
16 15 |18 |20 | 5 8 8 5 |28 |23 |55|14|23|33 |25 |42 |[M5X0.8/12.5|/ 9.5 |M10X1.0| 47 |— | 6 9 |75
With air cushion/bimensions not mentioned in the table below are the same as the above table. (mm)
Bore B C |GA|GB | LB | NA|NB|WA|WB|WW| S YA
10 15 | 17 | 75 | 6.5 |165| 21 | 20 |145|135| 45 | 65 | 93
16 18 | 20 | 75 | 65| 23 | 21 | 20 |145|135| 55 | 66 | 94
1.3-8

ZSNC



Front Flange (F)

Standard: Double Acting Single Rod Series CJ 2

CJZF\ Bore size H Stroke HPort location on head cover\

CJ2F6

Mounting nut *

z: Cover
Rodend nut NN GA _, Piping port . surface level
B :ms X 0.8 Piping port
=7, —. /M5X08
A~ 27 ) - I T o >
=<}t P il 1
_ ' T, NA ‘ \ﬂ% fomirg o CIP_
Rod cover side Head cover side H ™ S 4 Stroke ounting noie
Z + Stroke
CM2
Piping port Mounting nut * c C85
over —
M5X0.8/ Rodendnut  ny GA.  Piping port 2-M5 X 0.8 GB Setacs lovel
MM = i o C76
(=] . : p Il R e —
; —| |~T TR R K Ay &
- -3 KT Ho - “wpn mf > CGl
; L VAV Ul @y g ——
FX
A FL T NB FZ =B8R LB
Port location on Mounting hole
head cover: In-line (R) H S + Stroke MB1
' Z + Stroke L
CP95
C95
With air cushion: CJ2F | Bore size H Stroke | A[Port location on head cover |
C92
CAl
Port location on = —
head cover: In-line (R) = CS1
Mounting nut *
Piping port Cover
" M5 X 0.8 Rod end nut GA Piping port 2-M5 X 0.8 GB surface level
Q l_/
IR ' ben
@ ﬂb‘ g ) 2 & = )
\ u \:__ - ] ~
L@.’ NA L NB
S + Stroke
Z + Stroke
- H
Material: Iron
Part No. | Bore | B © d H
NTJ-006A| 6 |55 6.4 |[M3X05] 24
NTJ-010A| 10 | 7 |81 |[M4X07]3.2
NTJ-015A] 16 | 8 | 9.2 [M5x08] 4
ORefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F FB | FC | FT | FEX | FY | FZ | GA | GB H MM NA | NB NN S T z
6 15 12 14 3 8 13 |45 |16 | 24 | 14 | 32 |145]| — | 28 |M3XO0.5]| 16 7 |M6X10 | 49 3 77
10 15 12 14 4 8 13 | 45|16 | 24 | 14 | 32 8 5 28 |M4X0.7[125| 95 |[M8X10 | 46 | — | 74
16 15 18 | 20 5 8 19 | 55| 23 | 33 20 | 42 8 5 28 |M5X0.8|125| 95 [MI0X10 | 47 | — | 75
With air cushion/pimensions not mentioned in the table below are the same as the above table. (mm)
Bore B C FB | GA | GB | NA | NB | WA |WB |WW| S Z
10 15 17 |145| 75 | 65| 21 | 20 |145|135| 45 | 65 93
16 18 | 20 19 | 75|65 ] 21 | 20 |145[|135| 55 | 66 | 94
1.3-9
% S\VC



Series CJ2

Double Clevis (D)

CJ2D| Bore size H Stroke |

Z + Stroke R
CZ H S + Stroke U
CXIE'? Rod end nut N8 oCD Hg+g-030
MM GA  Piping port 2-M5 X 0.8 GB CIe;ls PN o
! o (ocdds Zyog0) o
f E ¢
gy B B =r—#
T mounting Wiy, i
Refer to p.1.3-12 :'"T"'} - 0
for details. 2| = A NA Pl
g il e et |
: iyt 1
I=despodod
AN
W
ZZ + Stroke
OClavis pins and set rings are attached.
With air cushion: CJ2D | Bore size [ Stroke | A
= =
Heeh e
WA WB
Z + Stroke R
H S + Stroke U
cz Rod end nut NB oCDHo 8%
CX :g% A Piping port 2-M5 X 0.8 GB Clevis pin
! ™ (ocdos 38%) o
~ ; vhir—st
Z+?3 _ _ it
T mounting Kf" | ]
i C
NA bl 0B
I_':__ '_':_1
[ [
anrprded
AN
W
ZZ + Stroke
Rod end nut
/L
&) o
B —-
Material: Iron
Part No. | Bore | B C d H
OClevis pins and set rings are attached. NTJ-010A| 10 | 7 |81 [M4X0.7]3.2
NTJ-015A| 16 | 8 | 9.2 [M5X08| 4
(mm)
Bore A B C [CD(cd)| CX Cz D GA GB H MM NA | NB R S U Z Y4
10 15 12 14 3.3 3.2 12 4 18 28 M4 X 0.7 | 125 | 225 5 46 8 82 93
16 15 18 20 5 6.5 18 5 23 28 M5 X 0.8 | 125 | 275 8 47 10 85 99
T mounting dimensions (mm)
Bore e TH TV T™W X TY
10 4.5 29 40 22 32 12
16 5.5 35 48 28 38 16
With air cushion/bimensions not mentioned in the table below are the same as the above table. (mm)
Bore B C Cz | GA | GB NA | NB S WA | WB | WW z Y4
10 15 17 15 7.5 | 195 21 33 65 145 | 265 | 45 | 101 | 112
16 18 20 18 75 | 245 | 21 38 66 145 | 315 | 55 | 104 | 118
1.3-10
% S\VC



Auto Switch Mounting Position

Standard: Double Acting Single Rod Series CJ 2

Reed Switch
<Band mounting>
D-C7/C8

<Rail mounting> A SRR

Auto switch

Solid State Switch
<Band mounting>
D-H70
D-H7OW
D-H7BAL
D-H70F

<Rail mounting>

( ): D-H7LF

Auto switch

i

Auto switch

|

yretay
s

D-A7/A8, D-F7/J7
S & D-F7 C0W/J79W
:Er &2 | Min. bending D-F7OF/F7TBAL
wl I 7|/} radius of Auto switch
- 4 fj |?ead wire: 10 'F-;E_,;_"" ‘E_"j'—‘—_:—_—_"_—_
i B R !
Auto switch ( ): D-F7LF (30)
an . — D-F7CIV/F7OO0WV
@G‘HE;* ——\— Auto switch
L=+ ] ;tr
Al | 22 B — e e N ./
- — I )Y —ﬁ] mIg; :tl':n
E — i u
D-A73C/AB0C 0 suitch 9 7 sSill:
- i Min. bending
o ‘p? A 23 B P2 F"X@dius of lead
© e wire: 10
EICIR e D-J79C 1
l - Auto switch
1010
13.313.3 x =
D-A79W
9 Auto switch
.—:—1—-—4‘9.';! = o, I | % _t\fg‘iﬁ
R e e . ,.,‘ITLE'-] B
TT 4%7 Min. i Er
bending radius
All235 B Gflead wire: 10 [11[11] 13.313.3
Auto Switch Mounting Position
Auto switch
model D-C7 D-A70H/A80H D-F7BAL
D-C8 D-H70 D-H7OW D-A73C/A80C D-F70W
D-C73C D-H7C D-H7BAL D-A7/A8 D-F7/37 D-F700F D-A79W
D-C80C D-H70OF D-F70OV D-J79W
D-J79C D-F7OWV
Bore A B A B A B A B A B A B A B
6 2 2 1 1
(8.5) (0.5) (7.5) 0) - - - - - - - - - -
10 2.5 2.5 1.5 1.5 0 0 3 3 35 3.5 7.5 7.5 0.5 0.5
16 3 3 2 2 0.5 0.5 3.5 35 4 4 8 8 1 1
Auto Switch Mou nting Height 0J( ) in the table: In case of double rod style, series CJ2W.
Auto switch | D-C7/C8 D-A7CIH/A80H
model | D-H7C/H7OW D-C73C D-A7 D-F7/37 D-A73C D-F70OV
D-H700F D-C80C D-H7C D-A8 D-F7O0W/I79W D-A80C D-F70WV D-J79C D-A79W
D-H7BAL D-F7BAL/F70IF
Bore Hs Hs Hs Hs Hs Hs Hs Hs Hs
6 15 17.5 18 — — — — — —
10 17 19.5 20 16.5 17.5 23.5 20 23 19
16 20.5 23 23.5 19.5 20.5 26.5 23 26 22
1.3-11
ZSNC




Series CJ2

Accessory Dimensions (mm)

Single knuckle joint Clevis pin Knuckle pin

MM oNDH1c

| ; L 1:
—!" m RA { tm &5 mt 4 tm %
I i 3 a
I I =]
NX 53 Av] [Ui'g? = al ! =]
012 Lt 7 ) ! n J 8l
Material: Stainless steel
Material: Rolled steel . Material: Stainless steel
Part No.[Bore| Dd9 |d | L | ¢ |m| t |Setring
d H10 Part No.| Bore Set rin
Part No.|Bore [A1|L1| MM |NDH1OINX|R1|U1 Coa010] 10 |53 388 3 (222 [1.2/03| C 3.2 DA9 [d|L|e¢|m]|t 9
1-J010B| 10 | 8 |21 |M4X07[33*3%831| 8 | 9 CD-Z015| 16 |52053 |4.8[22.7|183[1.5/0.7| C5 1Y-J010| 10 [33 25330l 3 |16.2[12.21.7|0.3| C 3.2
1-J016B| 16 | 8 |25|M5X08(5 *5%¢6.4| 12| 14 cp-Jaotod 10 (337388 3 |182[15.2]1.2]0.3| C 3.2 1Y-J015| 16 |5 25830 |4.8]166/12.2[1.5(0.7| C5
OFor 210 double clevis style, with air cushion and
built-in speed controller
Double knuckle joint Mounting nut Rod end nut
OKnuckle pins and set rings are attached.
MM oNDH10 d
Axisdg /
RRU -
)
® )
NX'82 | A1) U182 B H
012 L1 7
H
Material: Rolled steel Material: Brass Material: Iron
Bore | A1 L L1 MM
Part No. PartNo. | Bore | B | C d H PartNo. | Bore | B | C d H
Y-J010B 10 8 |16.2] 21 |M4X0.7
Y-JO16B | 16 11 |16.6| 21 |M5X0.8 SNJ-006B | 6 8 |92 |M6X10| 4 NTJ-006A | 6 55| 6.4 |M3X05| 2.4
PartNo. | NDas | NDriol NX | R | Uz SNJ-010B| 10 | 11 [12.7|M8X1.0| 4 NTJ-010A | 10 7 |81 |M4X07| 3.2
Y-J010B | 33000 337004 35 | g | 10 SNJ-016B | 16 14 [16.2| M10X10 | 4 NTJ-015A | 16 8 |92 |M5X08| 4
3 01680
Y-3016B |5 9% [570% [ 65 | 12 | 10 SNKJ-016BHY] 16 | 17 |19.6 | M12X10 | 4
OFor @16 non-rotating style.
(Use SNJ-016B for 210 non-rotating style.)
T bracket Rod end cap
Double clevis
ﬁ style cylinder To TH oo Flat: CJ-CFOOO Round: CJ-CROOC
ot | F | [ruse [ A MM A, MM
) zl | ¥ T F o il
i o _r‘_'..__.—r*-..‘ t =n 7
= f ’ Lqr o
& - ) el -0 ¢ g la
i S I S ] =4 2} ;
N oTDH10 8} N
&40 I ¢
LIY] T
TW o
Material: Iron
Part No. Bore | A|D|L MM N|R|W
Flat Round
Part No.| Bore |TC| TDHio |TH|TK|TN|TT|TU|[TV|TW|TX|TY|TZ CJ-CF006 | ca-cro06 | 6 61811 M3axo05 15 |8
CJ-TO10B| 10 |45|3.3%9%8|29(18(3.1|2 |9 |40(22(32(12]| 8 CJ-CF010 | CJ-CRO10| 10 | 8 [10|13| M4X0.7 | 6 |10
CJ-TO16B| 16 |55|5%0% |35|20(6.4|2.3|14 |48 |28 |38 |16 |10 CJ-CF016 | CJ-CR0O16 | 16 |10|12|15| M5X0.8 | 7 | 12|10

1.3-12

O
:



Standard: Double Acting Double Rod

Series CJ2W

26, 910, 16

How to Order

Bore size ¢ CJ1
6 6mm
¥ 10| 10mm ¢ Standard stroke CJiF’
_16] 16mm 26, 810, 16 | 15, 30, 45, 60
Mounting e —
pase Cushion CM2
L Axial foot = Rubber bumper —
F Front flange A Air cushion (Except for g6) C85
C76

cizw/(L|[1645 [A cG1
[ ] MB
cpJ2w L |[16}—45 [aHcC73 Bl

® Number of CP95

With auto switch . switches
g Auto switch
(built-in magnet) ) — 2
ORefer to the table below for selecting — |C95
applicable auto switches. S 1
n
OIf requiring a built-in magnet cylinder C92
without an auto switch, refer to the model —
number example below. CAl
AL 7CS
Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch. Part No. of Cy”nder with Built-in Magnet
5 » Load voltage Auto switch model™ Lead wire[! : ) .
Style| Special function [Electical g (ngﬁ) be A Band Rail (010, 016) | 05 | 3 | 5 |None Apllz)llac:ble Symbol "-A" (rail mounting) or "-B
enry | £ (96,010,018 pery [ ndiine | O |0 @M (band mounting) should be suffixed to the
(?’Nvlgllr\le) | sy . c76 _ |a7en| @ |@|—|—] ic | — part No. of the cylinder with auto switch.
<
S Grommet | —| — |200v| — | A7T2 |[AT2H | @ |@|—|—| £, |Railmounting| CDJ2WB16-60-A
H _ | 12v | 100V | C73 | A73 |A73H | @ |®|®|— " [Band mounting| CDJ2WB10-45-B
8 No 2 vire 5V, 12v| <100V | C80 | A80 [A80H | @ |@®|—|— | IC |Relay
e Yes 24v| 12v | — |C73C|A73C| — | @ |@|®@|®| — | PLC
Connector [—
_ - No 5V, 12v| <24V | C80C | A8OC | — ® 0 00 cC
Dlagr}gsc!gzléﬁ%calmn Grommet |Yes _ _ . A79W . ° o —|—| —
3 wire (NPN) Y H7A1 | FINV| F79 | @ (@ |O|— c
Grommet 3 wire (PNP) ' H7A2 | F7TPV| F7P | @ (@ |O|—
c . — | H7B [F7BV|J79 | @ |@|O|—
S 2 wire 12V
P Connector — H7C | J79C | — ® o006 —
2 ] 3 wire (NPN) sV 12V H7NW | FINWV| F79W | @ @ |O|—| .
Q Diagnostic indication - ’ _ _ Relay
g (2 colour) Ve 3 wire (PNP) 24V H7PW F7PW | @ (@O PLC
g H7BW |[F7BWV|(J79W | @ | @ |O|—
o N 2 wire 12v
= | Water resistant -
3 & coroum |crommet — |H7/BA| — |F7BA|— |@|O|—
With timer 3 wire (NPN) sV 12V — —_ FINT | — |@|O|— n
Withdiég(n:woc‘u(s)ﬂ(r:)uutput 4 wiire ' H7NF — F79F ® 0|O|—
Latch vith d
A (NPN) — H7LF | — | F7LF ®|O|—|—
OLead wire length 0.5m---e-en — e.g.) C73C |1 EEPRPRRRD Z e.g.)C73Cz
B L C73CL  None:- - N C73CN

OSolid state switches marked with" O " are manufactured upon receipt of order.
@ “D-A79W"cannot be mounted on bore size 10 cylinder with air cushion.
0 “D-H7O0W", “D-H7BA” and “D-H70F” cannot be mounted on bore size @6 cylinder.

1.3-13
SvC

'\



Series CJ2W

JIS Symbol

Double acting/Double rod

[

order
vade] Made to Order

Refer to p.5.4-1 for made to order
products of series CIJ2W.

A\ Precautions

o e e ey
I Be sure to read before handling. Refer to 1
: p.0-39 to 0-46 for Safety :
1 Instructions and common precautions. 1

L |

A\ Caution

| Mounting

(D During installation, secure the rod cover and
tighten by applying an appropriate tightening
force to the retaining nut or to the rod cover
body. If the head cover is secured or the
head cover body is tightened, the cover
could rotate, leading to a deviation.

(2) Tighten the retaining screws to an
appropriate tightening torque within the
range given below.

26: 2.1 to 2.5Nm, g10: 5.9 to 6.4Nm, g16:
10.8 to 11.8Nm

(3 To remove and install the snap ring for the
knuckle pin or the clevis pin, use an
appropriate pair of pliers (tool for installing a
C type snap ring). In particular, use a pair of
ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the
snap rings on the g10 cylinder.

@) In the case of auto switch rail mounting, do
not remove the rail that is mounted. Because
the retaining screws extend into the cylinder,
this could lead to an air leak.

1.3-14

Specifications

Action Double acting/Double rod
Fluid Air
Proof pressure 1.05MPa
Max. operating pressure 0.7MPa
26 0.15MPa
Min. operating pressure 210, 916 o1MPa
Ambient and fluid temperature Without auto switch: -10°C to 70°C, With auto switch: -10°C to goec
Cushion Rubber bumper/Air cushion
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance 30
Piston speed 50 to 750mm/s
26 0.012J
Allowable kinetic energy 210 0.035J
216 0.090J

ONo freezing

Standard Stroke (mm)
Bore size Standard stroke
6, 10, 16 15, 30, 45, 60

Minimum Strokes for Auto Switch Mounting

Auto switch Number of Min.
i stroke
Mounting model switches (mm)
2 (same surface) 50
p-c7 2(different surf 15
= D-C8 (different surfaces)
= 1 10
3 B:;SW o 2 (same surface) 60
E D-H7BAL ® 2 (different surfaces) 15
8 | D-H7NF® 1 10
o
D-C73C 2(same surface) 65
26 | D-C80C 2(different surfaces) 15
g10 | D-H7C 1 10
716 2(same surface) 65
— D-H7LF® 2 (different surfaces) 25
1 15
D-A7/A8 2 10
D-A70H/A80H
D-A73C/A80C 1 5
=] D-F7
-% D-J79 2 5
S | bD-F7OV 1 5
g D-J79C
— D-A79W
& | b-F7oOw 2 15
~—~ | D-J79W
210 | p.F7BAL
216 D-F7OWV 1 10
~— | D-F79F
2 15
D-F7LF
1 15

Note 1) Cannot be mounted on @6 cylinder.

O
:



Standard: Double Acting Double Rod Series CJ 2W

Mounting Accessories/Refer to p.1.3-12 details. Weight @)
Mounting Basic Foot Flange Bore size (mm) 6 |10| 16
Standard Mounting nut ° ° ® Basic weight" 27135/ 70
Rod end nut PY PY ° Additional weight for each 15 of stroke| 3 | 6 | 9
ontion Single knuckle joint ° ° ° xsiurrl]tting bracket | Foot 16 |16 | 40
P Double knuckle joint” ° ° ™ 9 Flange 55115

ODouble clevis or double knuckle joint is packaged with knuckle pins and set rings.

Mounting Bracket Part No.

Bore size (mm)

Mounting bracket
. 6 10 16
Foot CJ-LO06B CJ-L010B CJ-L016B
Flange CJ-F006B CJ-F010B CJ-F016B

Auto Switch Mounting Bracket Part No. (Band mounting)

Edieibize Bracket part No. Note
(mm)
6 BJ2-006 Common use to all of
10 BJ2-010 D-C7, C8 and D-H7
16 BJ2-016

Note) A set of stainless steel mounting screws "BBA4" is attached. (A switch
mounting band is not attached. Please order the band separately.)
"BBA4" screws are used for D-C7/C8/H7.

"D-H7BAL" switch is set on the cylinder with the screws above when

shipped.

Also, when a switch only is shipped, "BBA4" screws are attached.

With Air C

ushion

Copper Free

OThis basic weight includes weights of mounting nut
and rod end nut.
Calculation example)
CJ2WL10-45
*Basic weight: 35 (10)
® Additional weight: 6/15 stroke
e Cylinder stroke: 45 stroke
e®Mounting bracket weight: 16 (Foot)
35+6/15 X 45+16=69g
eRefer to p.1.3-4 for weight of the accessory.

Theoretical Force

Refer to the "Double acting cylinder" in Theoretical
Force Table 1 of Technical data 3 on p.5.6-7

In the case of the double rod style,

the force at IN side will be its theoretical force.

CJZW’ Mounting H Bore size H Stroke ‘A

With air cushion

With covers on both sides equipped with the cushion
function, the cylinder absorbs the impact during high-speed

operation.

Specifications

Action Double acting/Double rod
Lubrication Non-lube
Bore size (mm) 210, 216
Max. operating pressure 0.7MPa
Min. operating pressure 0.1MPa

Piston speed

50 to 1000mm/s

Mounting

Basic, Foot, Flange

Cushion Mechanism

Bore size Effective cushion Allowable kinetic energy (J)
mm length (mm)
10 9.4 0.07J
16 9.4 0.18J

ORefer to p.1.3-16 for the construction.

'\

20-CJ2W’ Mounting H Bore size H Stroke ‘

Copper free

To eliminate influences of copper ions or halogen ions
during CRT manufacturing processes, copper and fluorine
materials are not used as component parts.

Specifications

Action

Double acting/Double rod

Bore size (mm) 26, 210, 216
Max. operating pressure 0.7MPa
) . 26 0.15MPa
Min. operating pressure
210, 916 0.1MPa
Cushion Rubber

Standard stroke (mm)

15, 30, 45, 60mm

Auto switch

Possible to be mounted

Mounting

Basic, Foot, Flange

1.3-15

CJ1
CJP

s




Series CJ2W

Clean Series

10-CJ2W | Mounting || Bore size H Stroke

Clean series

The rod section of actuator is reinforced with the double-seal
structure. The air cylinder can be incorporated in the system
which directly discharges the external leak from the clean
room through the relief port.

Specifications

Action Double acting/Double rod
Bore size 210, 916
Max. operating pressure 0.7MPa
Min. operating pressure 0.1MPa

Cushion

Rubber bumper

Standard stroke

Same as the standard (Refer to p.1.3-14)

Auto switch Possible to be mounted
Mounting Basic, Axial foot,
Front flange
Construction
el 2] L5, e
LI T 0 H -
U
Construction (The cylinder cannot be disassembled.)
Yy
f mi — 1
X
With air cushion
3 @a@ ®@ © B OBKG @6 >4 an i ® ©) ®
'|_ 3 \ T T | . ; f / [ |
/ I| |
]H Y
| — ] 8
= i =
), -
Component Parts For Air Cushion Style
No. Description Material Note No. Description Material Note
@ Rod cover Aluminum alloy White anodized (@) Cushion needle Stainless steel
@ Cylinder tube Stainless steel 3 Steel ball Bearing steel
® Piston rod Stainless steel Cushion ring Brass
@ Piston Brass (B} Check seal NBR
® Mounting nut Brass Nickel plated Cushion ring gasket NBR
® Rod end nut Rolled steel Nickel plated W) Needle seal NBR
@ Bumper Urethane
Piston seal NBR
©) Rod seal NBR
Tube gasket NBR
an Piston gasket NBR
1.3-16

O



Standard: Double Acting Double Rod Series CJ 2W

Basic (B)

CJZWB’ Bore size H Stroke ‘

o
a
Mounting nut* < CJ2wB6
GA Piping port Rod cover
R NN ipi
od end ICI:; 2-M5 X 0.8
Q
_ YOS R cJ1
| = -~ / —
A | LEITL.NA | CIp
H S + Stroke E—
Z + 2 X Stroke
Mounting nut* ®
& & CM2
Rod end nut = Z —
MM °{ GA Piping port GA NN MM C85
5-M5 X 0.8 /7 A Y —
o T Q
! (" /—‘W& \‘VF‘# r7\ Vb ] C76
{I V“\,‘ \ - ‘ /,1/41 - ) - S
[z  — Pl
Al LLF.LNA LNA | F A OB CG1
H S + Stroke H + Stroke -
Z + 2 X Stroke . MB
MB1
CP95
C95
With air cushion: CJ2WB ’ Bore size H Stroke ‘A
C92
WA
= CAl
g ma S
Mounting nut * %J 2 CS1
W =
Rod end nut .
o GA Piping port 2-M5 X 0.8 gﬁ
1)
- ;(\ - = ]
A = NA NA Rod end nut
S + Stroke d
Z + 2 X Stroke
Dol 1 }“
B
Material: Iron
Bore
PartNo.| 57 | B | C H
NTJ-006A| 6 |55 6.4 |M3X05| 24
NTJ-010A] 10 | 7 [ 81 [max07]32
ORefer to p.1.3-12 for details of the mounting nut. ~ NTJ-015A] 16 | 8 | 9.2 [M5X0.8| 4
(mm)
Bore A B C D F GA H MM NA ND h8 NN sUl t zV
0 61 117
6 15 12 14 3 8 14.5 28 M3 X 0.5 16 6-0.018 M6 X 1.0 (66) 3 (122)
10 15 12 14 4 8 3 28 M4X07 | 125 B Vo M8 X 1.0 49 — | 105
16 15 18 20 5 8 8 28 M5X0.8 | 125 | 10 902 M10 X 1.0 50 — | 106
With air cushion/pimensions not mentioned in the table below are the same as the above table. 0( ) in S or Z dimensions: With auto switch
Bore B © GA NA WA WW S Z
10 15 17 7.5 21 14.5 4.5 66 122
16 18 20 7.5 21 14.5 5.5 67 123
1.3-17
% S\NC



Series CJ2W

Foot (L)

CJ2WL ‘ Bore size H Stroke

Mounting nut *

Rod end nut A F__ GA
MMN NN Piping port
\ ol 2-M5 X 0.8
5] g o—
e S 1 i L )
=
X Y IT| NA
- H > S + Stroke
Z + 2 X Strok
Rod end nut ;iping?)toﬁ e
- SME X 0.8 GA F NN MM Cover surface level
— N gl . ;
_11{;:"_I " )l r ";'| s e m| >
- ;1 T == —— _\:\Ls‘:y’ k| e
M ) é'\_ i T P ~+ - 5 1
Mounting nut * g7 LX
Xl LY NA NA Y _IX A LZ
H S + Stroke H + Stroke &l 2-0LC
Z + 2 X Stroke - Mounting hole
& Bl
L
With air cushion: CJ2WL ‘ Bore size H Stroke ‘A
=
Mounting nut * =
Rod end nut
Cover
surface level
T
X _'-~.___ z - om _
r———\—l [l
NA
S + Stroke N
Z + 2 X Stroke
Rod end nut
d
At
(&) 4—'—
H
Material: Iron
PartNo. | Bore | B | C d H
NTJ-006A| 6 |55 6.4 |M3X05| 24
NTJ-010A| 10 | 7 |81 |M4X07]| 3.2
ORefer to p.1.3-12 for details of the mounting nut. ~ NTJ-015A] 16 | 8 | 9.2 [M5X08] 4
(mm)
Bore A D F GA | H LB | LC | LH | LT | LX | LY | LZ MM NA NN sHl T X Y zU
61 117
6 15 3 8 |145| 28 15 | 45 9 16 | 24 |165]| 32 M3 X0.5 | 16 | M6X 1.0 (66) 3 5 7 (122)
10 15 4 8 8 28 15 | 45 9 1.6 | 24 |16.5| 32 M4 X 0.7 [125| M8 X 1.0 49 — 5 7 105
16 15 5 8 8 28 | 23 | 55| 14 | 23| 33 | 25 | 42 M5X 0.8 [125| M10X 1.0 | 50 — 6 9 106
. . . /Dimensions not mentioned in the table below are the H(') in S or Z dimensions: With auto switch
With air cushion/ same as the above table.
Bore B GA | LB | NA | WA |[WW | S z
10 15 | 75 |165| 21 (145 |45 66 |122
16 18 | 75 | 23 | 21 |(145| 55 | 67 | 123
1.3-18
ZS\VC



Standard: Double Acting Double Rod Series CJ 2W
Flange (F)
CJZWF‘ Bore size H Stroke
Mounting nut *
NA | _GA Piping port
MM_ Py /M5 X 0.8 -
e HESE cJ1
= 1> - L
v ﬁ% S CJP
Rod end nut [x —
—odencnitA A | [LFITL NA
H < S + Stroke
Rodendmt | Z + 2 X Stroke —
Mounting nut * Covir CM2
NN GA  Piping port GA NN MM surface level ————
MM . [ /2M5X0.8 / 2 C85
° TRy S ) = N
EE= : i —— =K & o alx C76
— N Y
A FT FX \
F.l.NA NA |_F, A F7 \51-0':—(? CG1
H S + Stroke I H + Stroke oantiy, ———
Z + 2 X Stroke MB
MB1
With air cushion: CJ2WF | Bore size H Stroke \A CP95
C95
Mounting nut * = Cc92
Rod end nut Cover CA1l
GA surface level =
Cs1

S + Stroke

Z + 2 X Stroke

d
\r_j (] “—}‘
- H
Material: Iron
Part No.| Bore | B C d H
NTJ-006A| 6 |55 |64 |M3X05| 24
NTJ-010A| 10 7 |81 |M4X0.7| 3.2
ORefer to p.1.3-12 for details of the mounting nut. NTJ-015A| 16 | 8 |92 [M5X08] 4
(mm)
Bore A D F FB FC FT FX FY FzZ GA H MM NA NN st T zY
61 117
. . . 1 .
6 15 3 8 13 4.5 1.6 24 14 32 14.5 28 M3 X 0.5 6 M6 X 1.0 (66) 3 (122)
10 15 4 8 13 4.5 1.6 24 14 32 8 28 M4 X 0.7 | 125 | M8 X 1.0 49 = 105
16 15 5 8 19 5.5 2.3 33 20 42 8 28 M5X0.8 | 125 | M10X 1.0 | 50 — 106
i . i Dimensions not mentioned in the table below are the 0( ) in S or Z dimensions: With auto switch
With air cushion/ same as the above table.
Bore B FB GA NA | WA | WW S z
10 15 145 | 75 21 145 | 45 66 122
16 18 19 7.5 21 145 | 55 67 123

O
:

1.3-19




Standard: Single Acting Spring Return/Extend
Series

26, 910, 216

CJ2

How to Order

Spring extend

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

6

Mounting e

10
16

Bore size ¢
"6 | 6mm
10mm
16mm

Spring return

Basic

Axial foot

Front flange

O|m|ir|®

Double clevis (Except for @6)

Standard

CJ2

¢ Standard stroke

26

15, 30, 45, 60

210

15, 30, 45, 60

216

15, 30, 45, 60, 75, 100, 125, 150

Action

S

Single acting/Spring return

T

Single acting/Spring extend

16

R

16

R

C/3

With auto switch

Built-in magnet

Port location on head cover

Bore
1 1
Symbo 26 210, 916
— — | Perpendicular
R In-line | In-line

ORefer to p.1.3-4 for the configuration.
[ONot applicable to single acting/spring

extend style (T).

® Number of

switches
Auto switch B 2
ORefer to the table below for selecting S 1
applicable auto switches. n n

OIf requiring a built-in-magnet cylinder
without an auto switch, refer to the
model number example below.

Part No.of Cylinder with Built-in Magnet

5 » Load voltage Auto switch model Lead wire™ i ) )
Style| Special function Electricalg ((\SVJ;E&) e e Band Rail (910, 616) | 0.5 | 3 | 5 |None Apﬁ)l;:dable Symbol "-A" (rail mounting) or "-B
entry |2 (86.010,016) perp. | In-line | O || @] N (band mounting) should be suffixed to the
(?’Nvgllr\le) _| sy — c76 _ |a7eH | @ l@|—|—] c | — part No. of the cylinder with auto switch.
<
S Grommet| "% —| — |20V | — | A72 |A72H | ® |@ |—|—| £, |Rail mounting | CDJ2B16-60S-A
= _ X.
H _ | 12v | 100V | C73 | A73 |A73H | @ |@|® Band mounting| CDJ2B10-45S-B
B No - 5V, 12V| <100V | C80 | A80 |[A80H | @ |@|—|—| IC |Relay
wire
e 24v| 12v | — |C73C|A73C| — | @ |@|@|®| — |PLC
Connector [—
‘ o o 5V, 12v| <24V | C80C | A8B0C | — ® 0600 C
Dlagr}gségzlér&%catmn Grommet |Yes — J— — | ATOW | — o & ——|—
3 wire (NPN) s 1o — H7AL1 | FINV| F79 | @ (@ |O|— c
Grommet| | 3wire (PNP) ' H7A2 | F7TPV | F7P | ® |@|O|—
= ) — H7B |F7TBV| J79 | @ (@ |O|—
S 2 wire 12v
2 Connector — H7C | J79C | — o o060 —
2 ] swre (Nen)| [ H7NW [F7NWV| F79W | @ (@O |— |
@  [Diagnostic indication - ) — — Relay
s (2 colour) ves 3 wire (PNP) 24y H7PW F/PW| @ (@O PLC
g H7BW |F7BWV|J79W | @ (@ | O|—
o N 2 wire 12v
= | Water resistant —
3 (2 colour) | Grommet — |H/BA| — |F/BA|— |@|O|—
With timer 3 wire (NPN) sv. 12V — N F7NT | — |@|O|— o
Y et oueut 4 viire ‘ HINF| — |F79F | @ |@|O|—
h with di
Lkt degrtc o (NPN) — H7LF | — | FILF o 0| —
OLead wire length 0.5m:-weeeee — e.g.) C73C Bm:reeee Z e.g) C73Cz
3meeeeees L C73CL None::: N C73CN

OSolid state switches marked with" O " are manufactured upon receipt of order.

1.3-20

O
:



Standard: Single Acting Spring Return/Extend Series CJ 2

oA

JIS symbol

Single acting/
Spring return

Single acting/
Spring extend

A

AN
/ V'Y

Made to Order

Refer to p.5.4-1 for made to order products of
series CJ2 single acting style.

A Precautions

[ = e e e e e e ey
: Be sure to read before handling. Refer to 1
j P-0-39 to 0-46 for Safety Instructions and

1 common precautions. 1
e o o o o o o ]
A\ Caution

() During installation, secure the rod cover and tighten
by applying an appropriate tightening force to the
retaining nut or to the rod cover body. If the head
cover is secured or the head cover body is tightened,
the cover could rotate, leading to a deviation.

(2) Tighten the retaining screws to an appropriate
tightening torque within the range given below.

26: 2.1t0 2.5Nm, 10: 5.9 to 6.4Nm, g16: 10.8 to
11.8Nm

(3 In the case of the single acting cylinder, do not
operate it in such a way that a load would be applied
during the retraction of the piston rod of the spring
return style, or during the extension of the piston rod
of the spring extend style. The spring that is built into
the cylinder provides only enough force to retract the
piston rod. Thus, if a load is applied, the piston rod
will not be able to retract to the end of the stroke.

@ In the case of the single acting cylinder, a breather
hole is provided in the cover surface. Make sure not
to block this hole during installation, as this could
lead to a malfunction.

(® To remove and install the snap ring for the knuckle
pin or the clevis pin, use an appropriate pair of pliers
(tool for installing a C type snap ring). In particular,
use a pair of ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the snap rings
on the 10 cylinder.

® In the case of the auto switch rail mounting, do not
remove the rail that is mounted. Because the
retaining screws extend into the cylinder, this could
lead to an air leak.

Specifications

Action Single acting/Spring return | Single acting/Spring extend
Fluid Air
Proof pressure 1.05MPa
Max. operating pressure 0.7MPa
26 0.2MPa 0.25MPa
Min. operating pressure
210, 916 0.15MPa
Ambient and fluid temperature Without auto switch: -10°C to 70°C, With auto switch: -10°C to go°cC
Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance *10'0
Piston speed 50 to 750mm/s
26 0.012J
Allowable kinetic energy 210 0.035J
216 0.090J
ONo freezing
Standard Stroke mm)  Spring Force )
Bore size Standard stroke Bore size Retracted Extended
6 15 30. 45. 60 (mm) position position
10 15, 30, 45, 60 6 3.72 1.77
10 6.86 3.53
16 15, 30, 45, 60, 75, 100, 125, 150
16 14.2 6.86
Minimum Strokes for Auto Switch Mounting
- Auto switch Number of s’t\fgllle
otnting model switches (mm)
2 (same surface) 50
D-c7 2(different surf 15
o D-C8 (different surfaces)
= 1 10
3 D-H7O 2 (same surface) 60
£ | D-H7TOW®
= D-H7BAL® 2 (different surfaces) 15
& | D-H7NFW 1 10
m
— | D-C73C 2(same surface) 65
26 | D-C80C 2(different surfaces) 15
g10 | D-H7C 1 10
216 2(same surface) 65
D-H7LF(®) 2 (different surfaces) 25
1 15
D-A7/A8
D-A70H/A80H 2 10
D-A73C/A80C 1 5
o D-F7
£ | b 2 5
D-F700V
S | DJrec 1 5
= D-A79W
g |Dp-FrOw 2 15
~—~ | D-J79W
210 | p_p7BAL
216 D-F7O0WV 1 10
— D-F79F
15
D-F7LF
15
Note 1) Cannot be mounted on @6 cylinder.
1.3-21

O
:

s




Series CJ2

Weight/Spring Return (S) () Mounting Accessories/Refer to p.1.3-12 for details.
metek ) 6 10 16 Mountin Basic | Axial foot Front el
15 Stroke 11 28 63 9 flange clevis®
30 Stroke 16 35 80 © Mounting nut Y Y ® _
5]
45 Stroke 18 44 102 % Rod end nut P P ® P
i ight™ 60 Stroke 23 53 124 8
Basic weight 3 Clevis pin - - _ P
75 Stroke — — 145 - —
100 Stroke — — 188 c Single knuckle joint _ o o [ J o
125 Stroke — — 224 'gl Double knuckle joint o o [ ) o
150 Stroke — | — | 250 T bracket — — — d
. Axial foot 8 8 20 ODouble clevis or double knuckle joint are packaged with pins and set rings.
Mounting Refer to p.1.3-4 for the accessory weight.
bracket Front flange 5 5 15
weight Double clevis™L (with pins — 4 10 .
(with pins) Theoretical Force

OThis basic weight includes weights of mounting nut and rod end nut.

0 The mounting nut is not attached to the double clevis, so the mounting
nut weight is already reduced.

Calculation example) CJ2L10-45S
®Basic weight:
®Mounting bracket weight:---

44 (210-45 stroke)
8 (Axial foot)

Refer to the “Single acting/spring return cylinder” in Theoretical Force

Table 1 of Technical data 3 on p.5.6-7. In the case of

the spring extend style, the force at OUT side will be the ending force

of the spring return, and that at the IN side will be the amount of the IN
side force of the double acting style cylinder from which the beginning
force of the spring return has been subtracted.

Copper Free

Port location ‘

20—CJ2’MountingHBore sizeH Stroke H Action ‘ e e

44+8=52g
Weight/Spring Extend (T) o)
Bore size (mm) 6 10 16
15 Stroke 17 28 64
30 Stroke 21 34 80
45 Stroke 23 43 100
Basic weightH 60 Stroke 27 51 121
75 Stroke — — 140
100 Stroke — — 178
125 Stroke — — 212
150 Stroke — — 236
Mounting Axial foot 8 8 20
bracket Front flange 5 5 15
weight Double clevisT (with pins) — 4 10

OThis basic weight includes weights of mounting nut and rod end nut.

@ The mounting nut is not attached to the double clevis, so the mounting
nut weight is already reduced.

Calculation example) CJ2L10-45T

Copper free

To eliminate influences of copper ions or halogen ions during CRT
manufacturing processes, copper and fluorine materials are not
used as component parts.

eBasic Weight: .............................. 43 (g10.45 Stroke) .
®Mounting bracket weight: - 8 (Axial foot) Specifi cations
43+8=52
g Action Single acting/Spring return ‘Single acting/Spring extend
Bore size (mm) 26, 210, 216
M ti B ket Part N Max. operating pressure 0.7MPa
oun Ing racke ar OB - ( ) Min. operating 26 0.2MPa ‘ 0.25MPa
. ore size (mm ressure
Mounting bracket p 210, 916 0.15MPa
9 6 10 16 :
Foot CJ-L006B CJ-L010B CJ-L016B Cushion Rubber bumper
Flange CJ-FOO6B CJ-FO10B CJ-FO16B Standard stroke (mm) Same as the standard (Refer to p.1.3-21.)
T bracket” — CJ-T010B CJ-TO16B Auto switch Possible to be mounted
0T bracket is used with double clevis (D). Basic, Axial foot, Front flange
Mounting ' ' .

Auto Switch Mounting Bracket Part No. (Band mounting)

SR Bracket part No. Note
(mm)
6 BJ2-006 Common use to all
10 BJ2-010 of D-C7, C8 and
16 BJ2-016 D-H7

(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above
when shipped.

QNote) A set of stainless steel mounting screws “BBA4” is attached.

Also, when a switch only is shipped, “BBA4” screws are attached.

1.3-22

'\

Double clevis (Except for @6)




Standard: Single Acting Spring Return/Extend Series CJ 2

Construction (The cylinder cannot be disassembled.)

Single acting/Spring return

®® B 6o

J/

—f

—AA a2 @ O @® @ ®©
B
(i ™
1]
-

Single acting/Spring extend

@ o ®B o @ (ac

S

A 0
| /
(X 1

CJ206 Piston/Head cover

3

- \ "\,_]
ﬂ_'Q(ZQ') a
]
I | |
&
CJ206 Piston/Rod cover
Component Parts
No. Description Material Note No. Description Material Note
® | Rod cover Aluminum alloy White anodized @ | Packing retainer Aluminum alloy | White anodized (6 spring extend)
@) Head cover Aluminum alloy White anodized Bumper Urethane
(3 | Cylinder tube Stainless steel @ | Mounting nut Brass Nickel plated
) Piston rod Stainless steel @ Rod end nut Rolled steel Nickel plated
® | Piston A Brass @ | Piston seal NBR
® | PistonB Brass Rod seal NBR
@ Return spring Piano wire (B) Tube gasket NBR
Spring seat Brass Piston gasket NBR
1.3-23

O
:

o1
P
o2
o5
cr6
cor
Ve
eI
cPos
o5
coz
cAL
st




Series CJ2

Single Acting/Spring Return: Basic (B)

CJz2B ‘ Bore size H Stroke ‘ S ‘ Port location on head cover

a . GB
Rod end nut Zf Mounting nut ™ Piping port
(o] L bt~ we
MM NN M5 X 0.8
] T
4 Q 0
=z o - - -
0B
A E NA NB Port location on head
Piping port Y S + Stroke cover: In-line (R)
M5 X 0.8
: | Z + Stroke
ORefer to p.1.3-12 for details of the mounting nut. (mm)
Su ZLl
Bore A|B|C|D|F|GB|H MM |[NA|NB|NDh8| NN |5t |16to|31to|46t0(61to|76to|101to[126t0| 5to |16to(31to|46to|61to|76t0|101t0|126t0
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st
34.5[435[475(615 62.5|71.5(755(89.5
J— 0 — J— J— — J— — — J—
6 |15/ 8| 9|3 |8 28 [M3X05| 3 | 7 | 69018/ M6X10 5| 89| 525 | 669 615 | 63) | 03) | 43)
10 [15]12 14| 4 | 8 | 5 |28 |MAX07|55|9.5| 8 Bopp| MBX10[455]53 | 65|77 |— | — | — | —[735|81 |93 |105| — | — | —|—
16 [15[18[20| 5 | 8 | 5 | 28 [M5X0.8]5.5]9.5]10 805 |MI0X10]455] 54 | 66 | 78 | 84 [108 | 126138 73.5] 82 | 94 | 106|112 | 136|154 | 166

Single Acting/Spring Return: Axial Foot (L)

0( ) in S or Z dimensions: With auto switch

CJ2L ‘ Bore size H Stroke ‘ S‘ Port location on head cover‘

Port location on head Rod end nut

: Piping port
cover: In-line (R) R ol L Cover surface level
o M5 X 0.8 Ve ——
[s)
( %‘ =
!
LOB, |
Piping port
R e -
M5 X 0.8 L H S + Stroke
Rod end nut le _Z + Stroke
_d
Material: Iron
Part No. | Bore | B Cc d H
NTJ-006A| 6 |55 | 6.4 |M3X05]| 24
NTJ-010A| 10 7 |81|M4X07]| 3.2
NTJ-015A| 16 8 |92 |M5X08| 4
ORefer to p.1.3-12 for details of the mounting nut. (mm)
st z2
Bore |A|[B|C|D|F [GB|H |LB|LC[LH|LT|LX|LY[LZ| MM |NA|NB| NN |X|Y|5to |16to|3L1to|46t0o|61to|76to|101to|126t0| 5to [16to(3Lto|46to|61to|76t0 [101to|126t0
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125t | 150st
345|435(475|615 625|715 (75.5(89.5
6 15(8|9(3|8|_|28(13]45|9 [1.6]24|165/32|M3X05|3 | 7 |[M6X10|5]|7 o05) | 5) | 25 [ 665) | — | — | — | — |69 | pes) | @ogy || — | | |
10 [15[12]|14]4 |8 | 5|28[15|4.5] 9 [1.6]24 [165)32 |[M4X0.7[5.5|9.5(M8X10|5 |7 |455|/53 |65 |77 | — | —|—|—[735|81 |93 [105|—|—|—|—
16 [15/18|20|5 |8 | 5|28(23|55]14(2.3]33 |25 |42 |M5X08(55/9.5|M0X10 |6 |9 |455| 54 | 66 | 78 | 84 | 108|126 |138|735] 82 | 94 | 106 | 112|136 | 154 | 166
0( ) in S or Z dimensions: With auto switch
1.3-24

O
:



Standard: Single Acting Spring Return/Extend Series CJ 2

Single Acting/Spring Return: Front Flange (F)

CJ2F ‘ Bore size H Stroke ‘S‘ Port location on head cover ‘

; % Port location on head
Rod end nut NN Mountmg nut ) GB-‘ —Piping port g
RAAN cover: In-line (R)
& / M5X0.8 /Cover surface level
.\I " = ) F{Ti’/‘% { /4}_ = 2T - _€L\ 1|_ [}_
-~ v /— — T T e T . - 1 -\“ r - o E i
H B@\ 7ay L cJ1
| FX —
s 2 2-0FC
Piping port NB e
OB | | | FZ M ting hol
o8, M5 X 0.8 T s Sk_j—_St_r_c_)he___ oudinghole  |CIP
[z + Stroke
- —
ORefer to p1.3-12 for details of the mounting nut. —
(mm) CM2

s- i
Bore |A|B|C|D|F |FB|FC|FT|FX|FY|FZ|GB|H| MM [NA|NB| NN |5to [16t0(31to[46t0|61to|76t0|%0Lto[1%t0| 5t0 [16t0|3Lto[46t0(61t0(76t0(10t00|1%600 |C8H
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 1258t | 1505t ——=

345435475615 625|715 755|895
6 |15)8|9|3 |8 |11]4516(24|14|32|—|28\M3XO05| 3 | 7 | M6X10 | e |t oo | — | — | — | — || o | o ey | — | — | — | — C76
10 [15]12]14] 2 | 8 [13]45]16]24|14]32| 5 [28[Max 0.7]55]9.5] Mex10 |455]53 |65 | 77 | — | — | — | — |735| 81 | 93 |105 | — | — | — | —

16 |15|18|20| 5|8 [19]5.5(2.3[33/20|42| 5 [28|M5X0.8/5.5/9.5| MI0X10|455| 54 | 66 | 78 | 84 | 108|126 |138|73.5| 82 | 94 | 106 | 112|136 | 154 | 166 CGl
0( ) in S or Z dimensions: With auto switch

MB
Single Acting/Spring Return: Double Clevis (D) W
CJ2D| Bore size H Stroke |S —
| a | CP95
Z + Stroke R —
cz Rod end nut H S + Stroke U C95
; MM Piping port M5 X 0.8 NB oCDHe %0 —
OX 61 GB Clevis pin C92
& (ocdw $38) L
b g CAL
\ r=Fn —
= { B T[T { .
T mounting [ tH =t CS1
Refer to p.1.3-12 ] :L_+_11
for details. L " NA :._ | j_1

£ |
Rod end nut o e
q kﬂj HB
W

4-0TC 77 + Stroke
Material: Iron
Part No. | Bore | B C d H
NTJ-006A 6 55| 6.4 |[M3X05| 2.4
L X NTJ-010A| 10 7 |81 |Max07]| 32
OClevis pins and set rings are attached. NTJ015A| 16 | 8 | 92 |M5X08]| 2
(mm)

S z

Bore | A| B |C |CD|CX|CZ| D |GB|H| MM |[NA|NB| R | U |5t [16t0]|31to|46to|61to|76t0|101to|126t0( 5to |16t0o|31to|46to(61to|76t0 10110 (126t
(cd) 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125t | 150st
10 15|12[14(3.3[3.2(12| 4 | 18|20 [M4X0.7 |[55|225| 5 | 8 |455|53|65|77|—|—|—|—|735[81 |93 |105|—|—|—|—
16 15|18 20| 5 |65]18| 5 | 23|20 [M5X0.8 |5.5]|275| 8 | 10 |455|54 | 66 | 78 | 84 | 108|126 |138|755| 84 | 96 | 108 | 114|138 156 | 168

T mounting dimensions

7z )
BOre I 15t | 1610305t | 3110455t | 4610 60st | 6110 75st ] 7610 1005 | 101 0 12551 2610 1508 e I R
10 | 845 | 92 | 104 | 116 | — | — | — | — 10 |45 20 |40 | 22 | 32 | 12
16 | 895 | 98 | 110 | 122 | 128 | 152 | 170 | 182 16 |55 35 | 48 | 28 | 38 | 16

1.3-25

O
:



Series CJ2

Single Acting/Spring Extend: Basic (B)

CJ2B | Bore size H Stroke | T

Mounting nut *

2 —
MM [a) GA _ Piping port
CJ2B6 \ al NN BV /M5X0.8 S
\ © ~a A
4/; F Tl NA NB 0B
Rod end nut H + Stroke S + Stroke
Z + 2 X Stroke
o Mounting nut*
= . .
CJ2B10, 16 MM % GA, Piping port
\ % NN § M5 X 0.8
T 1, — _;(l :é, R . /
A F__NA NB
Rod end nut H + Stroke . S + Stroke
Z + 2 X Stroke
UORefer to p.1.3-12 for details of the mounting nut. (mm)
sH Z4
Bore A|B|C|D|F|GAlH MM NN |[NA|NB|ND h8| T |5to |16t0o|3L1to|46to(61to|76t0 (101t (12610 | 5to (16to(31to[46to|61to|76t0 (101t |126t0
15st | 30st | 45st | 60st | 75st | 100st | 125t | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st
46.5/55.5/59.5/73.5 745|83.5/87.5[10L5
0
6 1512 |14 | 3 | 8 [145(28 |M3X05|M6X10(16 | 3 | 6 F0is| 3 |15 003645785 — | — | — | — |m5)| 85| 25| weg| — | — | — | —
10 15|12 |14 |4 | 8 | 8 |28 [M4X0.7|M8X1.0[125|55 878.022 — |485|/56 |68 | 80| —|—|— |— [765/84]9 [108| — |[— |— | —
16 15|18 |20 | 5 | 8 | 8 |28 [M5X0.8|M10X1.0{125|5.5 10_8022 — |485[ 57 |69 | 81|87 | 111|129 (141 [765] 85| 97 |109 [115 |139 |157 [169
O( ) in S or Z dimensions: With auto switch
Single Acting/Spring Extend: Axial Foot (L)
CJ2L ‘Bore size H Stroke \T Cover
CI2L6 Mounting nut * surface level
MM, NN \_F_. GA _  Piping port - o
al N\ | /M5X0.8 2
[E] : g-j — 3 [ 5
= S —— — TN 1_'1}' & % L=
A I—.} b= S A l -
G O = T
4 1T | | Lo
Rod cover  Head cover /A XL Y Tl NA |NB| Cover surface level
side side ‘Rod H+ Stroke =~ |, S+ Stroke B !
CJ2L10. 16 cover side - ~ Z + 2 X Stroke . N — 1 4
i { - |
Rod end nut Rodendnut _ Mounting nut* N ‘@y ;rﬁ Z
" MM NN\ _F_GA  Piping port : T4 ¢ 4
| “M5X08 [
7 \ 8 e -
L e A\ AT A LZ
o S — —] )__ ;<;_ o BAVA] 2-0LC
| @ Oj'_ T U TN JYay Mounting hole
/{ 0B ¥ : |: —EC A
L.ﬁ-l -
A L XY [ NA INB | Material: Iron
H+Stroke | S + Stroke partNo.| Bore | B | C d H
Z + 2 X Stroke
— = > NTJ-006A| 6 |55]|64|M3X05|24
NTJ-010A| 10 | 7 |81 |M4X07]3.2
NTJ-015A| 16 | 8 | 9.2 |[M5X08| 4
ORefer to p.1.3-12 for details of the mounting nut. (mm)
st ZzY
Bore |A|B|C|D |F |GA|H [LBILCILHILTILX[LY|LZ| MM [NA|NB| NN |T | X|Y|5to |16t0o|31to|46t0|61to|76t0|100to|126t0| 5t0 |16t0|31to|46t0|61to|76to|101t0 |126t0
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st
46.5(55.5(59.5| 73.5 745835/ 87.5|10L5
6 15(12 (14| 3 |8 |145|28(15(4.5| 9 |1.6 [24]165[32M3X05/16 | 3 |M6X10{3 |5 |7 615|605 625785 — | — | — | — [ro5)| 85| @25 |woss| — | — | — | —
10 15112 (14| 4 |8 |8 [28|15(45] 9 |1.6[24[165|32 | M4X0.7[125|5.5 [MBX10|—|5 |7 [48.5| 56 |68 | 80 | — | — | — |— |765|/ 84| 96 (108 | — |— | — | —
16 15]18|20| 5|8 | 8 |28]23|5.5]14[2.3|33]25]42 | M5X08|125 [5.5|M0X10|—| 6 | 9|48.5] 57 | 69 | 81 | 87 |111|129 |141|76.5] 85 | 97 |109 |115 |139 |157 | 169
0( ) in S or Z dimensions: With auto switch
1.3-26
% S\VC



Standard: Single Acting Spring Return/Extend Series CJ 2

Single Acting/Spring Extend: Front Flange (F)

CJ2F ‘ Bore size H Stroke \T

Mounting nut *

CI2F6 NN / GA Piping port Cover surface level
g MM [a M5 X 0.8 -
- Ensa >
—{ ————-1 711 — — - i
H ﬁb LZ/ ! _
p _l_—l—-
Y 2-0FC
Rod cover  Head cover A F. Tl NA Mounting cJ1
side side H + Stroke S + Stroke | hole
Z + 2 X Stroke . Cover surface level ———
CJpP
CJ2F10, 16 Rod end nut Mounting nut * GA  Piping por N ==
= s fis}
gl NN\ [T /M5X08 A e
= : = “ 7k ) PR S I P CM2
‘E)[L . ,\A le FZz | Mounting
_ FT hole
F TA NB Material: Iron C85
H + Stroke S+Stroke | patNo.|[Bore | B | C d H c76
Z+2 X Stroke ————————®INTJ-006A| 6 |55|64|M3X05[24 L— ~
NTJ-010A| 10 | 7 |81 |M4X07]3.2
NTJ-015A| 16 | 8 | 9.2 [M5X08]| 4 CG1
ORefer to p.1.3-12 for details of the mounting nut. (om) P —
SO zU MB
Bore A|[B|C|D|F |FBIFCIFTFX|FY|FZ|GA|H | MM |NANB| NN | T |5to |16t0|31to|46t0|61to|76t0|101to|126t0| 5to (16to|3Lto[46to(61to 7610 [101t0[126t0 ——————
15t | 30st | 45st | 60st | 75st | 100st | 1256t | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 1256t [ 1505t |MIB 1
46.5|55.5(595 (735 7451835|87.5|10L5 ——
6 15112 |14 | 3 |8 |13 |45]|1.6(24|14|32|145(28 [M3X05{16| 3 |[M6X10| 3 (5L5) | (605) | (645) | 785) === | |95 |85 | @5)|wes| — | — | — | — CP95
10 15 (12 (14| 4 |8 [13 |45|16/24|14|32| 8 |28 [M4X0.7]125]5.5[M8X10|—[485]|56 |68 |80 | — | —|— | — [765|84 |96 |108 | — |— |—|— L
16 15 (18 (20| 5|8 |19 |55|2.3|33|20]42| 8 |28 [M5X0.8]125(5.5[MI0X10|—|485)| 57 | 69 | 81 | 87 |111]129]141|765] 85 | 97 | 109 |115 /139 | 157 | 169
0( ) in S or Z dimensions: With auto switch C95
Single Acting/Spring Extend: Double Clevis (D) C92
CJ2D | Bore size H Stroke | T “ CAl
Z + 2 X Stroke o —
Cz Rod end nut H + Stroke _ S + Stroke ot e |CS1
CXit} MM GA Piping port M5 X 0.8 _ INB 0CDm 6™ ————
| 2. | Clevis pin ocd. =550
Ly '
= =177
T mounting 4 %h = - _] =8 B
Refer to p.1.3-12) !K;-L = T_1 :
for details. STEE T o
\ % . F A
reta~)
e A
[ OB |
4-0TC ‘ TX ZZ + 2 X Stroke
L TV
OClevis pins and set rings are attached.
(mm)
S z
Bore AlB | clcpolex|icz|lp |egalH | MM [NAINB| R | U |5t [16to[31to[46to(61to|76to (101t [126t0( 5to |16t0|31to|46t0|61to|76t0|101to|126t0
(cd) 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 1256t | 150st
10 15 (12 |14 [3.3|3.2|12 | 4 8 |28 [M4X07|125[185| 5 | 8 [485/56 |68 80| — | —|— | — |845]/92 |104({116|— |— | — | —
16 15 (18 | 20| 5 /65|18 |5 8 |28 [M5X08[12.5[235] 8 |10 |48.5| 57| 69|81 |87 |111|129(141(86.5| 95 |107 (119|125 |149|167|179
(mm) T mounting dimensions
Bore 2 Boresize | TC | TH | TV [TW | TX | TY
5 to 15st[16 to 30st |31 to 45st |46 to 60st |61 to 75st |76 to 100st | 101 to 125t |126 to 150st
10 95.5 103 115 127 — — — — 10 45 | 29 | 40 | 22 | 32 12
16 100.5 | 109 121 133 139 163 181 | 193 16 55 |1 35|48 | 28 | 38 | 16
1.3-27
V :
& SNC



Series CDJ2

Auto Switch Mounting Position: Single Acting/Spring Return (S)

Reed Switch Solid State Switch
<Band mounting> <Band mounting> 0 e o e
D-C7/C8 N D-H7/H7CJW/H7BAL D-H7C]F ﬁj .

e T e B

e

<Rail mounting> )
Auto switch  D-A7/A8 Auto switch

_ F‘J§j_l
] [}
g - e el
m—— £ = CER
i U B 3177
Al |23 B
D-F7V/D-F7L]WV
D-A79W
Auto switch & ;{a_w
W 57 mI"de ' T
T [;‘[___—‘—_\T_ — s T n
= _—‘w__ ul [ [ 7
i
Al |235 b /B fin. bending 11
adius of
sad wire: 10 D-J79C
Auto switch
Auto switch D-A7(H/A80H ; - \ =3 o
o e N Oy
e T o e = 5Tl T
e ‘d%n - B 52 - p SV _ ‘_l :
T {u -H‘ _I: ﬂf |‘
Al |22 B L Ul 610
Al | 26 B 13.3 13.3
Auto switch
il o & =y ©
E@:ﬂjg —_|_\\ , "Xl | 2
’—ﬂ f_»m_l—v u Auto Switch Mounting Height (mm)
| 010 ) Bore |
A 24 | L.ﬂ 33 Auto switch model (mm) HS
Auto Switch Mounting Position/Spring Return mm) D-C7/C8 6 15.0
7 : D-H70/H70OW 10 17.0
] Bore A dimensions
A h I i
uto switch model | 1010 155 16 to 3093 to 45|46 to 60°1] 61 to 7550 76 10 100° | 1010 125% | 26 0 ¥ | ° D-H7OF/H7BAL 16 | 205
D-C7/C8 6 8.5 175 | 215 | 355 — — — — 2.0 D-C73C 6 17.5
D-C73C 10 9.0 16,5 | 285 | 405 — — — — 25 D-C80G 10 19.5
D-C80C 16 8.5 17.0 | 29.0 | 41.0 47 71 89 101 [ 3.0 16 23.0
D-H70 6 75 16,5 | 205 | 345 — — — — 1.0 6 18.0
D-H7C 10 8.0 155 | 275 | 39.5 — — — — 1.5 D-H7C 10 20.0
16 75 16.0 | 28.0 | 40.0 46 70 88 100 | 2.0 16 23.5
D-H70W 6 6.0 15.0 | 19.0 | 33.0 — — — — 0 D-A7 10 165
B—:ZSXL 10 6.5 14.0 26.0 220 — — — 98—5 0 D-A8 16 195
- 16 6.0 145 | 265 5 | 445 | 685 | 865 . 0.5
D-A70H/ASOH
D-A7/AS 10 9.5 17.0 29.0 | 41.0 — — — — D-F7/37 10 17.5
16 9 175 | 295 | 415 | 475 | 715 | 895 | 1015 | 35 D-F7LIW/I79W
- 16 20.5
g_é;/?ﬁ/Asoc 10 | 100 | 175 | 295 | 415 | — — — — |35 D-F7BAL/F7OF
10 235
D-A70H/A80H D-A73C/A80C
D-F70VII79C 16 9.5 18.0 | 30.0 | 42.0 48 72 90 102 | 4.0 16 26.5
D-F70V 10 20.0
10 105 | 18.0 | 30.0 | 42.0 — — — — 140
D-F7owWv 16 | 100 | 185 | 30.5 | 42.5 | 485 | 725 | 90.5 | 1025 | 45 D-Frowv 16 | 23.0
D-F7BAL/F700W 10 | 140 | 215 | 335 | 455 | — — — — |75 D-379C 10 | 230
D-F7OF/J79W 16 13.5 | 22.0 | 34.0 | 46.0 52 76 94 106 [ 8.0 16 26.0
10 7.0 145 | 26.5 | 385 — — — — 0.5 10 19.0
D-ATOW 16 6.5 15.0 | 27.0 | 39.0 45 69 87 99 1.0 D-ATOW 16 22.0

1.3-28

O
:



Standard: Single Acting Spring Return/Extend Series CJ 2

Auto Switch Mounting Position: Single Acting/Spring Extend (T)

Reed Switch Solid State Switch
<Band mounting> <Band mounting> Auto switch T\ I
D-C7/C8 Auto switch D-H?DIH?DNIH?BALIH?DF N
=Hs _ﬁll_ ——~ e
III T SN EERCE i
G ==y S -_ B
26 R
D-C73C/C80C Auto switch
| \
— T S| L
(G e TS T 1L 5T
=Hs A 36.7 f 1B

<Rail mounting> <Rail mounting>
Auto switch D-A7/A8 RN D-F7/J7/D-F7W/D-J79W
Min. bending radius D-F7F/D-F7BAL
& S _@ EL_1 1——[ _—E 2@ | Auto switch

un
A;S—! B

All 23
30)
( ):D-H7LF
Auto switch D-A79W  of lead wire: 10 Auto switch  D-F7LIV/D-F7TLJWV

——HI=H % N
= EY S — _E wof g

@
> 1—00_.. 0
I Vi

N\

) D-J79C
Auto switch D-A73C/A80C Auto switch
L\
' w
- = - i ¢ SR — | E N
.-H+-m—\»:c1—-? 2 ¥ IO — SIS I@i LI"]
. T : = T
1IN IJ
010 Al | 26Y 010
B 13.3 3.3 13.31133
Auto switch D-A7LIH/ABOH Auto Switch Mounting Height (mm)
uto switc ounting Relg mm
: /
[=E8=: = e > Auto switch model U o
- ‘_‘g (mm) HS
= r D-C7/C8 6 15.0
Al |22 B D-H7O/H7OW 10 17.0
Auto Switch Mounting Position/Spring Extend mm) _D-H7OF/H7BAL 16 20.5
) Bore A B dimensions 6 175
A tch I D-C73C
uto switch model | (mm) |l stroke [10 1o 1557 16 1o 305131 to 45°0] 46 0 6051 61.to 75| 76 to 1005 | 10L 10 125 | 12610 5% D-C80C 10 | 195
D-C7/C8 6 2.0 85 | 175 | 215 | 355 — — — — 16 23.0
D-C73C 10 25 9.0 | 165 | 285 | 405 — — — — 6 18.0
D-C80C 16 3.0 85 | 170 | 29.0 | 41.0 47 71 89 101 D-H7C 10 20.0
D-H700 6 1.0 75 | 165 | 205 | 345 — — — — 16 23.5
D-H7C 10 1.5 8.0 15.5 275 39.5 — — — — D-A7 10 16.5
16 2.0 75 | 160 | 28.0 | 40.0 46 70 88 100 D-A8 16 19.5
D-H7DW 6 0 6.0 15.0 19.0 33.0 — — * * D-A7DH/A80H 10 17 5
D-H70F 10 0 65 | 140 | 26.0 | 38.0 — — — — D-F7/37 .
D-H7BAL 16 0.5 6.0 14.5 26.5 38.5 44.5 68.5 86.5 98.5 D-F700W/J79W
D-A7/AS 10 3.0 95 | 170 | 29.0 | 41.0 — — — — D-F7BAL/E700F 16 20.5
16 35 90 | 175 | 295 | 415 [ 475 [ 715 | 875 [ 1015
D-ATSCIASOC 10 | 35 | 100 |175 | 295 | 415 | — | — | — | —  D-A7C 0| =5
D-A7CH/ASOH D-ABOC
- 16 26.5
D-E70V/J79C 16 4.0 95 | 180 | 30.0 | 420 48 72 90 102
D-F70WY 10 40 | 105 | 180 | 30.0 | 42.0 — — — — D-F70V 10 20.0
16 45 | 100 | 185 | 305 | 425 | 485 | 725 | 905 | 1025 _D-F7OWV 16 | 230
D-F7BAL/F7TOW 10 7.5 140 | 215 | 335 | 455 — — — — i 10 23.0
D-J79C
D-F7OF/J79W 16 8.0 135 | 220 | 340 | 46.0 52 76 94 106 16 26.0
10 0.5 70 | 145 | 265 | 385 — — — — 10 19.0
D-ATOW 16 1.0 65 | 150 | 27.0 | 39.0 45 69 87 99 D-ATOW 16 22.0
1.3-29

O

SVC




Non-rotating Rod: Double Acting Single Rod

Series CJ2K

210, 216

How to Order

10 10mm

16

Mounting ¢
Basic
Axial foot
Front flange
Double clevis

Bore size

16mm

Standard stroke (mm)

210

15, 30, 45, 60, 75, 100, 125, 150

216

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

16

60

1 |

L

16

60

C/3

With auto swi
(Built-in magnet)
Port locat

tch

ion on head cover

Symbol

Port location

Perpendicular

R

In-line

ORefer to p.1.3-31 for the configuration.

Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.

® Number of

switches
Auto switch = 2
ORefer to the table below for selecting s | 1
applicable auto switches. _n | n

0If requiring a built-in-magnet cylinder
without an auto switch, refer to the
model number example below.

Part No. of Cylinder with Built-in Magnet

s » Load voltage Auto switch model” Lead wireD(m) i ) )
Style| Special function Electricalé (g\ﬁ;gﬁ) 56 A Rail 05| 3| 5 |None Apllz:;c;ble Symbol “-A” (rail mounting) or “-B
entry |8 Band Perp. | Indine | © |O|@| 0 (band mounting) should be suffixed to the
3 wire part No. of the cylinder with auto switch.
o e B — C76 — |A76H | ® (@ |—|—| IC | —
< Yi R _— P — | — . .
s Grommet|'®® 200v A72 |AT2H | @ | @ _ £y | Rail mounting | CDJ2KB16-60-A
z - 12v | 100V | C73 | A73 |A73H | @ |®| @ — " |Band mounting| CDJ2KB10-45-B
8 No 2 wire 5V,12v| <100V | C80 | A80 |A80H | @ (@ |—|—| IC |Relay
e Yes 24v| 12v | — |C73C|A73C| — | @ |@|@®|®| — |PLC
Connector [—
No 5V,12V| <24V | C80C | ABOC | — ® 000 cC
Diagnostic indication Grommet |Yes — J— N A79W —_ ® |e|—|—| —
3 wire (NPN) sv iy — H7A1 | FINV| F79 | @ (@ |O|— c
Grommet| | 3 wire (PNP) ' H7A2 | FTPV| F7P | @ (@ |O|—
= 2 wire 12v o H7B | F7BV | J79 ® 0 O|—|
2 Connector H7C | J79C | — o o 00
H ] 3wire (NPN) 5v 12V H7NW | FINWV| F79W | @ @ |O|—| .
o Diagnostic indication - , _ _ Relay
g (2 colour) ves 3 wire (PNP) hav H7PW F7PW | @ @ |O PLC
g H7BW [H7BWV| J79W | @ | @ |O|—
o N 2 wire 12v
= | Water resistant -
3 2 coloun) Grommet — |H/BA| — |F/BA| — @ |O|—
With timer 3 wire (NPN) — — EZNT | — |@|O|—
5V,12V Ic
Wlthdggcnl;a‘(s)(l:?uutput 4Wire H7NF —_— F79F . . O —
Latch with diagnosti
i ot s (NPN) — HiLF | — |FiLF | @ [@]0|—| —
OLead wire length 0.5m---eeee — e.g.) C73C [S144 EEESEEEIRREE Z e.g.)C73Cz
BMeeeeeens L C73CL  None: N C73CN

OSolid state switches marked with* O " are manufactured upon receipt of order.

@ “D-A79W"” cannot be mounted on bore size @10 cylinder wi

1.3-30

th air cushion.

O
:



Non-rotating Rod: Double Acting Single Rod Series CJ 2K

Specifications

A cylinder in which the rod does not Action Double acting/Single rod
rotate because of its hexagonal shape. Fluid Alr
] Proof pressure 1.05MPa
Non_rOtatmg accuracy Max. operating pressure 0.7MPa
210: +1.5°, 916: +1° . :
i . . Min. operating pressure 0.06MPa
Can operate without lubrication. : : , , , : i
Ambient and fluid temperature Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C
Cushion Rubber bumper
— CJ1
Lubrication Non-lube I
Thread tolerance JIS class 2 CJP
1.0 ——
w Stroke tolerance +0
210 +15°
JIS sym bol Non-rotating accuracy A ——
Double acting/Single rod 716 1 CM2
. Basic , Axial foot, —
Mounting Front flange, Double clevis C85
r ’ Piston speed 50 to 750mm/s
C76
; 210 0.035J - -
Port Location on Head Cover Allowable kinetic energy —
- - - . 216 0.090J CG1
Either perpendicular to the cylinder axis or in-line
with the cylinder axis is available for basic style. ONo freezing —
MB
Standard Stroke o |MB 1
Bore size Standard stroke —
In-line Perpendicular 10 15, 30, 45, 60, 75, 100, 125, 150 CP95
A Prec autl O n S 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 C95
r_______________.= e
Be sure to read before handling. Referto . Minimum Strokes for Auto Switches Mounting C92
p.0-39 to 0-46 for Safety Instructions and —
1 1
1 common precautions. 1 eRefer to p.1.3-3. CA1l
Uy U g | —
A\ Caution Cs1
i Mounting Mounting Accessories/Rrefer to p.1.3-12 for details.
(D During installation, secure the rod cover and tighten
by applying an appropriate tightening force to the EwiRiR Basic aloolEon i anoe DOUk_)"é
retaining nut or to the rod cover body. If the head L I g clevis
cover is secured or the head cover body is tightened, ;
the cover could rotate, leading to a deviation. '(E\j Mounting nut hd b ® —
(2 Tighten the retaining screws to an appropriate e Rod end nut (] o (] (]
tightening torque within the range given below. % Clevis bi PY
210: 10.8 to 11.8Nm, g16: 20 to 21Nm evis pin — - -
@) In the case of the non-rotating cylinder, do not - Single knuckle joint o o [ ] o
operate it in such a way that rotational toque would 2 0
be applied to the piston rod. If rotational torque is 8 Double knuckle joint b o d hd
applied, the non-rotating guide will become T bracket — — — o
—~ deformed, thus affecting the non-rotating accuracy_. ODouble clevis or double knuckle joint is packaged with pins and rings.
() To screw a bracket or a nut onto the threaded portion
at the tip of the piston rod by placing a wrench over
the parallel section of the piston rod, make sure to
retract the piston rod entirely, and use the portion of
the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to
the non-rotating guide.
(® To remove and install the snap ring for the knuckle
pin or the clevis pin, use an appropriate pair of pliers
(tool for installing a C type snap ring). In particular,
use a pair of ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the snap rings
on the 910 cylinder.
® In the case of the auto switch rail mounting, do not
remove the rail that is mounted. Because the
retaining screws extend into the cylinder, this could
lead to an air leak.
1.3-31

O
:



Series CJ2K

Weight @) Mounting Bracket Part No.
Bore size (mm) 10 16 g et Bore size (mm)
Basic WeightD 24 55 10 16
Foot CJ-L016B CJK-LO16B
Additional weight for each 15 of stroke 4 6.5 Flange CJ-FO16B CIK-FO16B
i O
Mounting Axial foot 20 20 T bracket CJ-T010B CJ-TO16B
bracket Front flange 15 15 0T bracket is used with double clevis (D).
weight . . .
9 Double clevis™ (with pins) 4 10 Auto Switch Mounting Bracket Part No. (Band mounting)
OThis basic weight includes weights of mounting nut and rod end nut. Bore size
M The mounting nut is not attached to the double clevis style, so the mounting nut (mm) Bracket part No. Note
weight is already reduced.
Calculation example: CJ2KL10-45 10 BJ2-010 gogmgg USZ tlg a:l70f
- Basic weight: 24 (210) 16 BJ2-016 -L7, Lo and D-
« Additional weight: 4/15 stroke
« Cylinder stroke: 45 stroke CO p per Free

« Mounting bracket weight: 20 (Axial foot)
24+4/15 X 45+20=569

20-CJ2K ’ Mounting ‘ ’Bore size H Stroke‘ ’gr?ﬂégg%%%r

A Caution Copper free
Handli To eliminate influences of copper ions or halogen ions
andling during CRT manufacturing processes, copper and fluorine
<Mounting> materials are not used as component parts.

® Avoid using the air cylinder in such a way that rotational torque would be
applied to the piston rod because this will deform the non-rotating guide,

thus affecting the non-rotating accuracy. Refer to the table below for the Specifications
approximate values of the allowable range of rotational torque.

Action Double acting/Single rod
210 216 i
Allowable rotational torque Nm Max. operating pressure 0.7MPa
0.02 0.04 Min. operating pressure 0.06MPa
e Operate the cylinder in such a way that the load to the piston rod is Cushion Rubber bumper (standard)
always applied in the axial direction. . 210 1 B0
*To screw a bracket onto the threaded portion at the tip of the piston rod, Egg ?;)Cn-rotatmg 15
make sure to retract the piston rod entirely, and place a wrench over the uracy 216 £l
flat portion of the rod that protrudes. To tighten, take precautions to Standard stroke (mm) Same as the standard (Refer to p.1.3-31.)
prevent the tightening torque from being applied to the non-rotating guide. Auto switch Possible to be mounted
Mountin Basic, Axial foot,
9 Front flange, Double clevis

Note) A set of stainless steel mounting screws "BBA4" is attached. (A switch
mounting band is not attached. Please order the band separately.)
"BBA4" screws are used for D-C7/C8/H7.

"D-H7BAL" switch is set on the cylinder with the screws above when
shipped.
Also, when a switch only is shipped, "BBA4" screws are attached.

Construction (The cylinder cannot be disassembled.)

Rod cross section

Component Parts

No. Description Material Note No. Description Material Note
@ | Rod cover Aluminum alloy White anodized @ | Rod end nut Rolled steel Nickel plated
@ | Head cover Aluminum alloy White anodized ® | Bumper Urethane
@ | Cylinder tube Stainless steel @ | Piston seal NBR
@ | Piston rod Stainless steel @ | Rod seal NBR
® | Piston Brass @ | Tube gasket NBR
® Mounting nut Brass Nickel plated () Piston gasket NBR
1.3-32

O
:



Non-rotating Rod: Double Acting Single Rod Series CJ 2K

Basic (B)

CJ2KB ‘ Bore size H Stroke H Port location on head cover

Mounting nut*

Piping port M5 X 0.8 Rod end nut

=

oNDns

Piping port 2-M5 X 0.8

g_A_M

AT
\ | Wl
1 -[—j
'S_| Port location on head A | | Fl NA
cover: In-line (R) H S+ Stroke
Z + Stroke
[Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 10, SNKJ-016B for g16) (mm) C85
Bore A BA BB CA CB F GA GB H KA MM NA NB NDh8 NN S Z C76
10 15 15 12 17 14 8 8 5 28 4.2 M4 X 0.7 125 | 95 10 _8_022 M10 X 1.0 46 74
16 15 18 18 20 20 8 8 5 28 5.2 M5 X 0.8 125 | 95 12 _%027 M12 X 1.0 47 75 CG 1
Axial Foot (L) MB
CJ2KL ‘ Bore size H Stroke ‘ ‘ Port location on head cover MB1
& CP95
O Rod cover side C95
[ S —
LLOBA, | » Mounting nut* C92
Piping port M5 X 0.8 Rog end nut Piping port 2-M5 X 0.8 Cover surface level —
> MM NN 1. GA
00 — '—'1
'\ (S % e al
- l/v\__ ~ ,_\\ ! =
i o 4 e ! | - I
i f : ! Tul ] ; <2 L N | <
BB s 1 s
~=="= Port location on head 5 L J
cover: In-line (R) A |IX| Y | NA NB LZ Rod cross section
o - S + Stroke
o Z + Stroke
2-0L.C
Hod shd s Mounting hole
Material: Iron
Part No. | Bore B © d H
NTJ010A | 10 | 7 |81 |[M4X07] 32
NTJI015A | 16 | 8 | 9.2 [M5X08| 4
[Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 210, SNKJ-016B for 16) (mm)

Bore A |BA|BB|CA|CB| F [GA|GB| H |[KA|LB |LC |LH|LT |[LX|LY |LZ MM | NA |NB NN X Y S Zz
10 1511512 |17 |14 | 8 8 5 [ 28 [4.2 2155514 |23 |33 | 25| 42 | M4X0.7[125|9.5| MI0X1.0 46 | 74
16 15118 |18 | 20| 20 | 8 8 5 |28 |52)23 55|14 23|33 |25 |42 |M5X08[125|9.5|MI2X10| 6 9 |47 | 75

o
©

1.3-33

O
:



Series CJ2K

Front Flange (F)

CJZKF‘ Bore size H Stroke H Port location on head cover

Rod cover side

Mounting nut*

Piping port M5 X 0.8 MM Pehgport s Mo 08 Cover surface level
Rod end nut GA, GB
2 = 5/ /
% ! ¥ : L
A 1 . - —r-— — 1AV 1 L mj >'-J {%?
T | AN VAN i =
<
BB P | FT FX x
ort location on head e
g | NB 3
cover: In-line (R) A | |LF_.NA - | FZ 2-0LC Rod cross
H | S + Stroke Mounting section
Z + Stroke hole
ORefer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 10, SNKJ-016B for g16) (mm)
Bore A | BA| BB | CA|CB F FB | FC | FT | FX | FY | FZ | GA | GB | H KA MM NA | NB NN S Z
10 15 | 15 | 12 | 17 | 14 8 |175|55| 23| 33 | 20 | 42 8 5 28 | 42 |M4X0.7|125| 95 | MI0X1.0| 46 | 74
16 15 | 18 | 18 | 20 | 20 8 19 | 55| 23| 33 | 20 | 42 8 5 28 | 52 |M5X0.8(125| 9.5 | M12X1.0| 47 | 75
Double Clevis (D)
CJ2KD | Bore size H Stroke |
Z + Stroke R
H S + Stroke U
BB Rod end nut NB 0CDHg "9 %%
cxif MM GA  Piping port 2-M5 X 0.8 GB Clevis pin
< = = (0cdas33%9)
i |
m L ““‘iu
TR ‘#E N\ ¥ i~ |
adn | = = T
Tmouting 2L = =
Refertop.1.312 | 1 ' | T g 1T
for details. W[ = A NA S
I_'_J.r: _jj'.‘.:_]'EJ ;:Z o, oy :II
! TY
™W
4-0TC ZZ + Stroke
Material: Iron
Part No. | Bore B C d H
NTJ-010A | 10 | 7 |81 [M4X0.7] 3.2
o ) NTJ015A | 16 | 8 | 9.2 |[M5X0.8| 4
OClevis pins and set rings are attached.
Bore A BA BB CA CB |CD(cd)| CX GA GB H KA MM NA NB R S U V4 27
10 15 15 12 17 14 3.3 3.2 8 18 28 42 |M4AXO0.7| 125 | 225 5 46 8 82 93
16 15 18 18 20 20 5 6.5 8 23 28 52 |M5X0.8| 125 | 275 8 47 10 85 99
T mounting dimensions (mm)
Bore TC TH TV TW TX TY
10 4.5 29 40 22 32 12
16 5.5 35 48 28 38 16
1.3-34

O
:



Non-rotating Rod: Single Acting Spring Return/Extend

Series CJ2K

210, 216

How to Order

CJi
Spring extend Bore size ®
—_— CJP
10 | 1omm ¢ Standard stroke (mm
16 16mm ( )
210 | 15, 30, 45, 60
Mounting ® @16 | 15, 30, 45, 60, 75, 100, 125, 150 —
. B Basic CM2
Spring return L Axial foot ) P ——
F Front flange ACtIOh - - C85
- S |Single acting/Spring return
D Double clevis - - - —
T |Single acting/Spring extend
C76
CG1
Standard CJ2K|L |[16[145]||S
[ | [ [ | MB
WHHENRTEE CDJ2K| L |[1645|[S|| MC73 MB1
CP95
_ _ ® Number of L
Wl'glh_auto switch switches C95
(Built-in magnet) . Auto switch — 2
Port location on head cover ORefer to the table below for - 1 C92
Port | . head selecting applicable auto _nh | n [&=Ye
Symbol | Port location on head cover switches. R
_ Perpendicular OIf requiring a built-in-magnet cylinder CAl
R il without an auto switch, refer to the ——
n-line model number example below.
ORefer to p.1.3-31 for the configuration. CSl

ONot applicable to single acting/spring
extend (T).

Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.

Part No. of Cylinder with Built-in Magnet

5 Load voltage Auto switch model™ Lead wireD(m) b
. ) 21 wirin - Applicable W AP (rai : wgn
Style| Special function E':r?:gjcalg (OL:tIpL?t) e re | merg Rail 05 | 3 | 5 [Nong] pfz);d Symbol *-A (ra'l mounting) or _B
IS Perp. | In-ine | & w| @ N (band mounting) should be suffixed to the
?Nvgi’ile) | sy . c76 _ |a7eH| @ l@|—|—| c | — part No. of the cylinder with auto switch.
= Y | _ | X X
S Grommet| " 200V A72 |AT2H | @ | @ — £, | Rail mounting | CDJ2KB16-60S-A
3 _ - 12v | 100v | C78 | A7S |A7SH| ® |® @ — Band mounting | CDJ2KB10-455-B
3 No o wi 5V,12Vv| <100V | C80 | A80 |A80H | ® (@ |—|— | IC |Relay
wire
kol Yes 24v| 12v | — |C73C|A73C| — |® |@|/®|®| — |PLC
Connector [—
» - No 5V,12V| <24V | C80C | ABOC | — ® 06/0 0 C
Dlagn(gség:lgllcrl;cauon Grommet|Yes — — — | A79W | — ® 0 —|—|—
3 wire (NPN) vy — H7AL | FINV| F79 | @ (@ | O|— c
Grommet| | 3 wire (PNP) ' H7A2 | FTPV | F7P | ® |@|O|—
s 2 wire 12v . H7B |F7TBV | J79 | @ (@|O|—|
2 Connector H7C | J79C | — o o0 o0
z ) swie NN HZNW [F7NWV| F79W | @ |@ | O|—|
@  |Diagnostic indication - ) — — Relay
g (2 colour) es 3 wire (PNP) 2av H7PW F7/PW| @ (@ |O PLC
g H7BW [H7TBWV|J79W | @ (@ | O|—
o - 2 wire 12v
= | Water resistant —
3 (2 colour) | Grommet — |H7/BA| — |F7/BA|— |@|O|—
With timer 3 wire (NPN) sV 12V —_ — F7INT | — |@|O|— N
With diagnostic output ’ - —
Latch with di i itput 4 wire HIEE F79F . . O
atch wi (Z\Ea;?orl:)swcoupu (NPN) —_ H7LF = F7LF ® O|—|—
OLead wire length 0.5m:-eeveee — e.g.)C73C Z e.g.)C73Cz
C73CL None C73CN

OSolid state switches marked with“ O ” are manufactured upon receipt of order.
M “D-A79W” cannot be mounted on bore size g10 cylinder with air cushion.

O

SVC

1.3-35



Series CJ2K

Specifications

A cylinder in which the rod does not
rotate because of its hexagonal shape.

Non-rotating accuracy
@10: £1.5°, @16: £1°

Can operate without lubrication.

Auto switch can also be mounted.
It can be equipped with auto switches to
simplify the detection of the stroke
position of the cylinder.

Spring extend
—
Spring return

JIS symbol

Single acting/
Spring return

Single acting/
Spring extend

s I A

A\ Precautions

o e e ey
I Be sure to read before handling.
: Refer to p.0-39 to 0-46 for Safety
1 Instructions and common precautions.

Iy -

/\ Caution

(1 During installation, secure the rod cover and tighten by applying
an appropriate tightening force to the retaining nut or to the rod
cover body. If the head cover is secured or the head cover body is
tightened, the cover could rotate, leading to a deviation.

(2) Tighten the retaining screws to an appropriate tightening torque
within the range given below.

210: 10.8 to 11.8Nm, g16: 20 to 21Nm

3) In the case of the single acting cylinder, do not operate it in such a
way that a load would be applied during the retraction of the piston
rod of the spring return style, or during the extension of the piston
rod of the spring extend style. The spring that is built into the
cylinder provides only enough force to retract the piston rod. Thus,
if a load is applied, the piston rod will not be able to retract to the
end of the stroke.

@ In the case of the single acting cylinder, a breather hole is
provided in the cover surface. Make sure not to block this hole
during installation, as this could lead to a malfunction.

(®) In the case of the non-rotating cylinder, do not operate it in such a
way that rotational torque would be applied to the piston rod. If
rotational torque is applied, the non-rotating guide will become
deformed, thus affecting the non-rotating accuracy. (Refer to
p.1.3-32)

(® To screw a bracket or a nut onto the threaded portion at the tip of
the piston rod by placing a wrench over the parallel section of the
piston rod, make sure to retract the piston rod entirely, and use the
portion of the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to the non-
rotating guide. (Refer to p.1.3-32.)

() To remove and install the snap ring for the knuckle pin or the
clevis pin, use an appropriate pair of pliers (tool for installing a C
snap ring). In particular, use a pair of ultra-mini pliers such as the
Super Tool CSM-07A for removing and installing the snap rings on
the 210 cylinder.

® In the case of auto switch rail mounting, do not remove the rail that
is mounted. Because the retaining screws extend into the cylinder,
this could lead to an air leak.

1.3-36

Action Single acting/Spring return | Single acting/Spring extend
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.15MPa

Ambient and fluid temperature

Without auto switch: -10°C to 70°C, With auto switch: -10°C to 60°CD

Cushion Rubber bumper (Standard equipment)
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance *$0
210 +1.5°
Non-rotating accuracy
216 +1°
Piston speed 50 to 750mm/s
210 0.035J
Allowable kinetic energy
216 0.090J
ONo freezing
Standard Stroke mm)  Spring Force N)
Bore size Standard stroke Bore size Extended |Retracted
10 15. 30 45. 60 (mm) position position
16 |15, 30, 45, 60, 75, 100, 125, 150 10 6.86 3.53
16 14.2 6.86
Minimum Strokes for Auto Switches Mounting
eRefer to p.1.3-3.
Mounting Accessories/Refer to p.1.3-12 for details.
Mounting Basic Axial foot | Front flange | Double
clevis
o Mounting nut o o o —
IS
2 Rod end nut ® [ (] (]
IS
(2] Clevis pin — — — [ ]
c Single knuckle joint ([ ] o o ( ]
o
= Double knuckle joint™ o [ o o
o]
T bracket — — — [ )

ODouble clevis or double knuckle joint is packaged with pins and rings.

va] Made to Order

Refer to p.5.4-1 for made to order products of series CJ2K.

O
:



Non-rotating Rod: Single Acting Spring Return/Extend Series CJ 2K

Weight/Spring Return ( ): Spring extend o) Copper Free
Bore size (mm) 10 16 - - - z
20-CJ2K’ Mounting HBore S|zeH Stroke HActlon ‘ ’Eﬁrﬁégﬁaég’v”e, ‘
15 Stroke 28 (28) 63 (64)
30 Stroke 35(34) | 80 (80) Copper free _ _
To eliminate influences of copper ions or halogen ions
45 Stroke 44 (43) | 102(100) during CRT manufacturing processes, copper and fluorine
materials are not used as component parts.
Basic wei ghtEh 60 Stroke 53(51) | 124 (121) p p
75 Stroke — 145 (140)
100 Stroke — 188 (178) cJ1
125 Stroke — 224 (212) Specifications —
150 Stroke _ 250 (236) Action Single acting/Spring return, Spring extend |C J P
Fluid Air —
’ Axial foot 20 20
youEtlng Bore size (mm) 210, 916
wr:i(g:;h(:t Front flange 15 15 Max. operating pressure 0.7MPa —_—
Double clevis® (with pins) 4 10 Min. operating pressure 0.15MPa CM2
[ This basic weight includes weights of mounting nut and rod end nut. Cushion Rubber bumper (standard equipment) ———
0 The mounting nut is not attached to the double clevis style, so the Rod non-rotating accuracy 210: +1.5°, g16: +1° C85
gglzm;igozuéxv;i;%:g:'Zilzrial_%_rjggced' Standard stroke (mm) Same as the standard (Refer to p.1.3-36.) ————
® Basic Weight:-rwrvesssesreeseens 44 (810-45 stroke) Auto switch Possible to be mounted C76
® Mounting bracket weight::------ 20 (Axial foot) Mounti Basic, Axial foot, —
44 + 20 = 649 ounting Front flange, Double clevis CG1
Mounting Bracket Part No. . . .
9 Auto Switch Mounting Bracket Part No. (Band mounting) |MB
Mounting bracket Bore size (mm) Bore size ——
ounting bracke 10 16 i) Bracket part No. Note MB1
Foot CJ-L016B CJK-L016B
Flange CI-FOL6B CIKFOL6B 10 BJ2-010 Common use to all of ——
9 5 16 BJ2-016 D-C7, C8 and D-H7 CP95
T bracket CJ-T010B CJ-TO16B . : -
or ting i o with double clevis (D Note) A set of stainless steel mounting screws “BBA4” is attached.
mounting is used with double clevis (D). (A switch mounting band is not attached. Please order the C95
band separately.) “BBA4” screws are used for D-C7/C8/H7. [
“D-H7BAL" switch is set on the cylinder with the screws above
when shipped. C92
CAl
Construction (The cylinder cannot be disassembled.) Cs1

Single acting/Spring return

o]

Single acting/Spring extend

®@ B @

AN @ QP @
/ /“' - r i
—— / s . /
/ p /
~A
[ _ 1M,
L ),. S l
1
Component Parts
No. Description Material Note No. Description Material Note
@ Rod cover Aluminum alloy White anodized @ Bumper Urethane
® Head cover Aluminum alloy White anodized Mounting nut Brass Nickel plated
©) Cylinder tube Stainless steel a Rod end nut Rolled steel Nickel plated
@ Piston rod Stainless steel 12 Piston seal NBR
® Piston A Brass 3 Rod seal NBR
® Piston B Brass Tube gasket NBR
@ Return spring Piano wire () Piston gasket NBR
Spring seat Brass
1.3-37

'\

<




Series CJ2K

Single Acting/Spring Return: Basic (B)

CJ2KB ‘ Bore size H Stroke ‘ S‘ Port location on head cover ‘

- a Piping port M5 X 0.8
Piping port M5 X 0.8 NN Z ) ~
Rod end nut Mounting nut® ™.
o7 MM\ \Cif:]>+
]
= =i &
e F NB
2Es Port location on head A ] A o, — y
cover: In-line (R) - FroloRs Rod cross section
Z + Stroke
[Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for g10, SNKJ-016B for 16) (mm)
Bore A BA BB CA CB F GB H KA MM NA NB NDh8 NN
10 15 15 12 17 14 8 5 28 4.2 M4 X 0.7 5.5 9.5 10 3 020 M10 X 1.0
16 15 18 18 20 20 8 5 28 5.2 M5 X 0.8 5.5 9.5 12 8 027 M12 X 1.0
Dimensions by stroke
Symbol S z
St
Bore % |50 15 |16 to 30|31 to 45|46 to 6061 to 7576 to 100|101 to 125[12610 150| 5 to 15 |16 to 30|31 to 45|46 to 6061 to 75] 76 t0 100 | 101t0 125]126 to 150
10 455 | 53 65 77 — — — — 73.5 81 93 105 — — — —
16 45.5 54 66 78 84 108 126 138 73.5 82 94 106 112 136 154 166
Single Acting/Spring Return: Axial Foot (L)
CJ2KL ‘ Bore size H Stroke ‘S‘ Port location on head cover‘
?\.
&
a Rod cover side
[ - &
Mounting nut
o /Piping port M5 X 0.8
Piping port M5 X 0.8 A F
- Cover surface level
& Bod end rut. [+ " 7 GB_
= ﬁ\ T I e T ¥
) = e ) O AP Ga> ¢
\ l VAT, |_ ) & N ! \'if, . E | ﬂ:_
. =i = T ™ b
.DBB Port location on head PoxLy,l [ Na NB| [ L X || Rod cross section
cover: In-line (R) H s S + Stroke LZ 2.0LC
Z + Stroke | Mounting hole
Rod end nut i
i :
f} o 4+
B H
Material: Iron
PartNo.| Bore | B | C d H
NTJ-010A| 10 7 |81 |M4X07 |32
NTJ-015A | 16 8 [92 | M5X08| 4
[Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 10, SNKJ-016B for 216) (mm)
Bore A |BA|BB|CA|CB| F |[GB| H |KA|[LB |LC|LH|LT |LX]|LY]|LZ MM | NA | NB NN X |y
10 15 |15 |12 |17 |14 | 8 | 5 |28 |42 |215|55 |14 |23 |33 |25 | 42 |[M4X0.7|55|9.5|M10X10| 6 | 9
16 15 |18 |18 (20 |20 | 8 | 5 |28 |52 |23 |55 |14 |23 (33 |25 | 42 |{M5X0.8/55 |95 |M12X1.0| 6 | 9
Dimensions by stroke
Symbol S z
S
Bore %ok | 510 15 | 16t0 30|31 to 45|46 10 60| 61 to 75 | 76 to 100|101 10 125 12610150 | 5 to 15 | 16 to 30| 31 to 45 | 46 to 60| 61 to 75 |76 to 100 10 to 125126 to 150
10 45.5 53 65 77 — — — — 73.5 81 93 105 — — — —
16 45,5 54 66 78 84 108 126 138 | 735 82 94 106 112 136 154 | 166
1.3-38
. r
< SMC



Non-rotating Rod: Single Acting Spring Return/Extend Series CJ 2K

Single Acting/Spring Return: Front Flange (F)

CJ2KF‘ Bore size H Stroke ‘ S‘Port location on head cover ‘

ke
&

” Rod cover side

[1BA
£ ® ——
Piping port M5 X 0.8 Mounting nut
T g p = Rod end nut . CJi
(,‘b / M Piping port M5 X 0.8 GE Cover surface level
' CJpP
= N £
= - B .
— = s
Port location on head NB Rod cross section
cover: In-line (R) NA ) 2-0FC CcM2
* S + Stroke - L
Mounting hole
Z + Stroke C85
[Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for g10, SNKJ-016B for 16) (mm) ——
Bore A |BA|BB|CA|CB| F |FB|FC | FT |FX |FY | FZ | GB| H | KA MM NA | NB NN C76
10 15 | 15 | 12 | 17 | 14 | 8 |175|55 |23 | 33 | 20 | 42 | 5 | 28 | 42 | M4X0.7 |55 | 95 | MIOX1.0 ——
16 15 18 18 20 20 8 19 |55 | 2.3 | 33 20 | 42 5 28 | 52 | M5X0.8 | 55 | 95 | M12X 1.0 CG]_
Dimensions by stroke —
Symbol S VA MB
Si
Bore Yote 510 15 |16 to 30 | 31 to 45 |46 to 60 | 61 to 75 | 76 to 100 | 101to 125 [126t0 150 | 5to 15 |16 to 30 |31 to 45 |46 to 60 |61 to 75 |76 to 100 | 101 to 125 | 126 to 150
10 455 | 53 65 77 _ _ _ _ 735 | 81 93 | 105 | - _ Z _ MB1
16 45.5 54 66 78 84 108 126 138 73.5 82 94 106 112 136 154 | 166 e
CP95
Single Acting/Spring Return: Double Clevis (D) Co95
CJ2KD‘ Bore size H Stroke ‘S 7 + Stroke Cc92
Rod end nut H S + Stroke .
MM Piping port M5 X 0.8 +i6E6 CA1l
oCDwhs o I
Clevis pin R
L (ocdes33®) | & Cs1
_ Had]——- @
T mounting i . m | "
Refer to p.1.3-1 - ’ X
for details. i A | NA . .
5 -2 Rod cross section
T COBA
-]
m_
Z7Z + Stroke
fa ]
7
8] 1Ly
OClevis pins and set rings are attached.
(mm) Material: Iron
Bore A | BA | BB | CA | CB [CDed) CX | GB | H | KA MM NA|NB| R | U
Part No. | Bore B C d H
10 15 | 12 | 12 | 14 | 14 | 33|32 | 18 | 20 | 42 | M4X 0.7 | 55 |225| 5 | 8 110 . —153
NTJ-010A 7 .1 [M4X0.7 .
16 15 (18 | 18 | 20 | 20 | 5 | 65| 23 | 20 | 5.2 | M5X 0.8 | 55 |27.5| 8 | 10 NTI01sA | 16 2 o2 Iexasl 2
Dimensions by stroke (mm)
Symbol S Z 77
St
Bore %%e 1510 1516 0 30[31.t0 4546 0 6061 t0 75] 7610100 01 10 25)2610150]5 o 15 [16 10 30[31.t0.45 [46 0 6061 t0 75 [7610 100 102 0 128J126 10 156] 5 t0 15 [16 10 30[31t0.45 [46 10 60 1.t0 75 [ 7610 100 L1 0 128126 10 150
10 455| 53 | 65 | 77 | — | — | — | — |735| 81 | 93 [105| — | — | — | — |845| 92 |104|116 | — | — | — | —
16 455| 54 | 66 | 78 | 84 | 108 | 126 | 138 | 75.5 | 84 | 96 | 108 | 114 | 138 | 156 | 168 |89.5 | 98 | 110 | 122 | 128 | 152 | 170 | 182
T mounting dimensions
Bore |TC|TH|TV|TW|TX|TY
10 4.5(29 |40 |22 (32|12
16 5.5|35 |48 |28 |38 |16
1.3-39
V :
< SVC



Series CJ2K

Single Acting/Spring Extend: Basic (B)

CJ2KB\ Bore size H Stroke ‘T

g Mounting nut*
—_—
& Rod end nut MM NN 3 | GA Piping port M5 X 0.8
GO
2 ; =
- < :
BB A F | NA | NB <
H + Stroke S + Stroke | Rod i
Z + Stroke od cross sectio
[Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 10, SNKJ-016B for g16) (mm)
Bore A BA BB CA CB F GA H KA MM NA NB NDh8 NN
10 15 15 12 17 14 8 8 28 4.2 M4 X 0.7 12.5 5.5 10 _8_022 M10 X 1.0
16 15 18 18 20 20 8 8 28 5.2 M5 X 0.8 125 5.5 12 _8_027 M12 X 1.0
Dimensions by stroke
S;/mbol S Z
Bore %% | 5t0 15 [16 to 30[31 to 4546 to 6061 to 75 [76 to 100101 to 125126 10 150 | 5 to 15 [16 to 30[31 to 4546 to 6061 to 7576 to 100]101 to 125]126 t0 150
10 48.5 56 68 80 — — — — 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169
Single Acting/Spring Extend: Axial Foot (T)
CJ2KL ‘ Bore size H Stroke ‘ T
v
QC)
Rod cover side
Mounting nut*
— GA Pioi A M5 X 0.8 Cover surface level
ipin :
oo‘b Rod end nut M M \F . 28 po
1 Py, — =
Fa ) lemr I
i g — S K’A ol >
L= = | Iy
/08B 5 1= $
Rod end nut H + Stroke S + Stroke LZ Rod cross section
3 Z + 2 X Stroke 2.0LC
V Mounting hole
| _’_@_ g
ol 4+ s [ ______
B ——=H
Material: Iron
Part No. | Bore B © d H
NTJ-010A | 10 7 |81 [Max07] 32
NTJ-015A | 16 8 | 92 |[M5X08| 4
ORefer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 10, SNKJ-016B for 216) (mm)
Bore A |BA|BB|CA|CB| F |GA| H |KA|LB|LC|LH|LT|LX|LY]|LZ MM NA | NB NN X Y
10 15 |15 |12 | 17 | 14 8 8 28 |42 |215/55|14 |23 |33 | 25 | 42 | M4X0.7|125|55 |[M1I0X10| 6 9
16 15 |18 | 18 | 20 | 20 8 8 28 |52 | 23 |55|14 |23 |33 |25 | 42 | M5X0.8{125|55 |[M12X10| 6 9
Dimensions by stroke
;ymbol S z
Bore e [ 51015 [16t0 30|31 to 4546 to 60|61 to 75|76 to 100|101 10 12512610150 | 5 to 15 | 16 to 30|31 to 45 ] 46 to 60 |61 to 75| 76 to 100|101 to 125|126 to 150
10 48.5 56 68 80 — — — — 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169
1.3-40
ZS\NC



Non-rotating Rod: Single Acting Spring Return/Extend Series CJ 2K

Single Acting/Spring Extend: Front Flange (F)

CJZKF\ Bore size H Stroke ‘T

Rod cover side

1 £ —
Mount::g ot —_— Cover surface level CJ1
iping port M5 X 0.8 —
% Rod end nut MM NN | GL Piping p —
g \ 4 i | cJpP
. - i € - oo > ﬁEt r—
BB FT Fx_ | I\ g
A FINA INB; FzZ \2-0FC___
H + Stroke S + Stroke Mounting hole CM2
Z + 2 X Stroke Rod cross section [
C85
ORefer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 210, SNKJ-016B for 16) (mm) C76
Bore A BA | BB | CA | CB F FB FC FT FX FY FzZ | GA H KA MM NA | NB NN —
10 15 | 15 | 12 | 17 | 14 | 8 |175|55 |23 | 33 | 20 | 42 | 8 | 28 | 42 | MAX07 |125| 55 |[MI0X10 (CG1
16 15 18 18 20 20 8 19 55 | 2.3 33 20 42 8 28 52 | M5X08 |125| 55 | M12X1.0 —
Dimensions by stroke MB
Symbol S z —
S
Bore e | 51015 |16 1030 |31 10 45 |46 10 60 |61 to 75 | 7610 100 | 10110 125 | 12610150 | 5 to 15 |16 to 30 | 31 to 45 | 46 t0 60 | 61 to 75 |76 to 100 | 101t0 125 | 12610 150 MB1
10 485 | 56 68 80 - - - - 76.5 84 96 108 - - - - e
16 485 | 57 69 81 87 111 | 129 | 141 | 765 | 85 97 | 109 | 115 | 139 | 157 | 169 CP95
Single Acting/Spring Extend: Double Clevis (D) C95
CJ2KD | Bore size [ Stroke | T C92
Z + 2 X Stroke —
Rod end nut
BB o H + Stroke - S + Stroke 6% CA1l
MM el GA Piping port M5 X 0.8 %?DTHB 0 —
; evis pin s
(ocds 588 ¢ |CS1
Tmounting T
Refer to p.1.3-12 T T
for details. F A NA_
COBA
-—
4-0TC/ ZZ + 2 X Stroke )
<
4
Rod end nut Rod cross section
d
Rk
|_._B_.] ot H
OClevis pins and set rings are attached.
(mm) Material: Iron
Bore A | BA | BB | CA | CB [CDecd) CX | GA| H KA MM NA | NB| R U
Part No. | Bore B © d H
10 15| 15| 12 | 17 | 14 |33 |32 | 8 28 | 42 | M4X0.7 |125|185| 5 8 0 e s IEY
NTJ-010A 7 .1 [M4X0.7 .
16 15 | 18 | 18 | 20 | 20 5 |65 8 28 | 5.2 | M5X0.8 (125|235 8 10 omEs || 16 2 9z hexesl A
Dimensions by stroke (mm)
Symbol S Z 77
S
Bore %k |5 t0 1516 10 30[31 to 4546 t0 60610 75| 7610 100] 1010 25 1260150 51015 [16 10 30[31.t0.45 46 10,6061 0 75 110 100 10210125 26101505 o 15 16 10.30 3L 0.45 46 t0 6061 10 75 {7610 100 11025 610 50
10 48.5| 56 | 68 | 80 — - — — [845| 92 [104|116 | — - — — (955|103 |115| 127 | — - - -
16 485 57 | 69 | 81 | 87 | 111|129 (141 (86.5| 95 |[107 | 119 | 125 | 149 | 167 | 179 [100.5|109 | 121 |133 | 139 (163 | 181 | 193
T mounting dimensions
Bore  |TC|TH|TV|TW|TX|TY
10 45|29|40|22(32|12
16 5.5|35 |48 |28 |38 |16
1.3-41
7 :
< SVC



210, 216

Built-in Speed Controller: Double Acting Single Rod

Series CJ2Z

Order

Standard stroke (mm)

How to
. - Bore size ¢
10 10mm
L 16 | 16mm
Mounting e
Basic
Axial foot

Front flange 210

15, 30, 45, 60, 75, 100, 125, 150

216

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

Om|r |

Double clevis

1660

|

16—60

C73

Band mounting With auto switch

(Built-in magnet)

Port location on head cover

al.”
Symbol Port location
— Perpendicular
R In-line

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto swich.

ORefer to p.1.3-43 for the configuration.

® Number of

switches
Auto switch — 2
ORefer to the table below for selecting S 1
applicable auto switches. n n

OIf requiring a built-in-magnet cylinder
without an auto switch, refer to the
model number example below.

Part No. of Cylinder with Built-in Magnet

S Load voltage Auto switch model” Lead wireD(m)
; .o |Electrical| § | Wiring i Applicable Symbol “-A” (rail mounting) or “-B”
Style| Special function = £ (Output) bC AE Band Rail 0.5 | 3 | 5 [None| load Y ( 9) .
Y |2 Perp. | Indine | &) [O|@| M) (band mounting) should be suffixed to the
?NVF\:iIEIe) —| sv o c76 — a6 | @ |@|—|—] c | — part No. of the cylinder with auto switch.
= Y, — | — — — | —
] Grommet|"** 200V A72 |AT2H | ® | ® — £ |Rail mounting | CDJ2ZB16-60-A
s _ || 12v | 100v | C73 | A73 |A73H | @ |@|@|— " |Band mounting| CDJ2ZB10-45-B
8 No 2 wire 5V,12v| <100V | C80 | A80 |[A80H | @ |@|—|— | IC |Relay
e N 24v| 12v | — |C73C|A73C| — | @ |@|®|@®@| — | PLC
onnector [——
_ - No 5V,12V| <24V | C80C | ABOC | — ® 000 cC
Dmg'}g%'&gﬁ?;“""" Grommet |Yes — — — |ATOW | — ® e —|—|—
3 wire (NPN) sy — H7A1 | FINV| F79 | @ |@ O|—|
Grommet| | 3 wire (PNP) ' H7A2 | F7TPV| F7P | @ (@ |O|—
- . H7B |F7BV| J79 | @ |@|O|—
S 2 wire 12v — -
= Connector H7C | J79C | — [ K 2K 2K )
: ] e (| [ H7NwW [F7inwv| Frow | @ @ [O[—T
@ |Diagnostic indication . ’ _ _ Relay
g (2 colour) ves 3 wire (PNP) sy H7PW F7/PW | @ @O pLC
g H7BW [H7BWV| J79W | @ | @ |O|—
o N 2 wire 12v
= Water resistant —_—
8 2 colour) Grommet — H7BA | — F7TBA | — @O |—
With timer 3 wire (NPN) — — |FINT | — (@O —
5V, 12V Ic
Wlthdlégcn(;)‘gﬂtv:)uutput Awire H7NF R E79F . . O —
hd
Latch wit (Zlcao?ollt:)shcoutput (NPN) . H7LF . E7LE e @e|l0O|—| —
OLead wire length 0.5m:-eeen — e.g.) C73C |10 EETRERRORED Z e.g.)C73Cz
3Mecereerens L C73CL  None: - N C73CN

OSolid state switches marked with* O " are manufactured upon receipt of order.
M “D-A79W” cannot be mounted on bore size g10 cylinder with air cushion.

1.3-42

O



Built-in Speed Controller: Double Acting Single Rod Series CJ ZZ

Specifications

Space saving air cylinder
with built-in speed controller

Auto switch available

JIS symbol

Double acting/single rod

B

Port Location on Head Cover

Either perpendicular to the cylinder axis or in-line
with the cylinder axis is available for basic style.

-3

In-line

Perpendicular

A\ Precautions

—_—— -

1 Refer to p.1.3-3 before 1
I handling. 1

|

Action Double acting/Single rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.06MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: —10°C to go°cll

Cushion Rubber bumper (Standard equipment) CJ 1
Lubrication Non-lube —
Thread tolerance JIS class 2 CJP
Stroke tolerance +10'0 -
Speed controller Built-in oy
. Basic, Axial foot, CM2
Mounting Front flange, Double clevis e —
Piston speed 50 to 750mm/s C85
210 0.035J
Allowable kinetic energy C76
216 0.090J [
ONo freezing CG 1
Standard Stroke mm |MB
Bore size Standard stroke
MB1
10 15, 30, 45, 60, 75, 100, 125, 150 —
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 CP95
. . . C95
Minimum Strokes for Auto Switches Mounting L
C92
eRefer to p.1.3-3. —
CAl
Mounti ng Accessories/referto p.1.3-12 for details. CS1
f . Axial Front Double
Mount
TN Basic foot flange clevis®
° Mounting nut o o ([ J —
IS
° Rod end nut o (] ([ J [
<
o Clevis pin — — — o
c Single knuckle joint o o o o
2 Double knuckle joint [ [ [ ] L
o]
T bracket — — — [
ODouble clevis or double knuckle joint are packaged with pins and rings.
1.3-43

O
:



Series CJ2Z

Weight @ Copper Free
Bore size (mm) 10 16
; ; Port locati
Basic weight[ 40 73 20-CJZZ‘ Mounting H Bore size H Stroke thgd ocation on
Additional weight for each 15 of stroke 4 6.5 TCopper free
Mounting Axial foot 8 20 To eliminate influences of copper ions or halogen ions
bracket Front flange 5 15 during CRT manufacturing processes, copper and fluorine
weigh materials are not used as component parts.
ght D g
Double clevis™ (with pins) 4 10

OThis basic weight includes weights of mounting nut and rod end nut.
[ The mounting nut is not attached to the double clevis style, so the mounting
nut weight is already reduced.
Calculation example: CJ2ZL10-45
®Basic weight: 40 (210)
® Additional weight: 4/15 stroke
e Cylinder stroke: 45 stroke
*Mounting bracket weight: 8 (Axial foot)
40+4/15 X 45+8=60g

Mounting Bracket Part No.

Specifications

Bore size (mm)

Mounting bracket

10 16
Foot CJ-L010B CJ-L016B
Flange CJ-FO10B CJ-FO16B
T bracket" CJ-T010B CJ-T016B

OT bracket is used with double clevis (D).

Auto Switch Mounting Bracket Part No. (Band mounting)

Bore size Bracket part No. Note
(mm)
10 BJ2-010 Common use to all of
16 BJ2-016 D-C7, C8 and D-H7

(A switch mounting band is not attached. Please order the band

Q Note) A set of stainless steel mounting screws “BBA4” is attached.

separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above
when shipped.

Also, when a switch only is shipped, “BBA4” screws are attached.

Action Double acting/Single rod
Bore size (mm) 210, 916
Max. operating pressure 0.7MPa
Min. operating pressure 0.06MPa

Cushion

Rubber bumper (standard equipment)

Standard stroke (mm)

Same as the standard (Refer to p.1.3-43.)

Auto switch

Possible to be mounted

Mounting

Basic, Axial foot,
Front flange, Double clevis

Construction (The cylinder cannot be disassembled)

[l

Component Parts

No. Description Material Note No. Description Material Note

@ | Rod cover Aluminum alloy White anodized @ | Mounting nut Brass Nickel plated
@ | Head cover Aluminum alloy White anodized (@ | Rod end nut Rolled steel Nickel plated
(3 | Cylinder tube Stainless steel (3 | Piston seal NBR

@ | Piston rod Stainless steel Rod seal NBR

® | Piston Brass @ | Check seal A NBR

® | Bumper Urethane Check seal B NBR

@ | Speed controller needle Stainless steel (7 | Tube gasket NBR

Check packing sleeve Brass Piston gasket NBR

© | Steel ball Bearing steel Needle seal NBR

Retaining ring Carbon tool steel | Black zinc chromated

1.3-44

O

<



Built-in Speed Controller: Double Acting Single Rod Series CJ ZZ

Basic (B)

CJ2zB ‘ Bore size H Stroke HPort location on head cover‘

=

T
L2
-
ws| !
NN Mounting nut*
Piping port o [gA Pipi G
ping port 2-M5 X 0.8 B
M5 X 0.8 Mant \ \ HL/
o,
— " [=] 'H L
; = ] S| -
. _,
NA NB
Port location on head | H ' S + Stroke
cover: In-line (R) Rod end nut L Z + Stroke
ORefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F GA | GB H MM NA | NB NDh8 NN WA | WB [WW | S z
10 15 15 17 4 8 75 | 6.5 28 M4 X 0.7 21 18 8_8'022 M8X10 |145|135| 45 63 91
16 15 18 20 5 8 75 | 6.5 28 M5 X 0.8 21 18 10_8_022 M10X 1.0 | 145|135 | 55 64 92
Axial Foot (L)
CJZZL‘ Bore size H Stroke HPort location on head cover‘
(T
st L "
gt ez
: A | WB
Port location on head e ™
cover: In-line (R) Mounting nut”
g Piping port 2-M5 X 0.8 Cover surface level
MM NN\ F,GA g GB
00 |“““ /
] ) oy = i
=] 1 al L
| -
| o\ i - k’) 5 =
B SI Lol A } il
— Al FARARY NB X
nué en H S + Stroke LZ
Z + Stroke
Rod end nut
2-0LC
/Mounting hole
H
Material: Iron
Part No. | Bore | B (3 d H
NTJ-010A| 10 | 7 |81 |M4X07]3.2
NTJ-015A| 16 | 8 | 9.2 [M5X038]| 4
ORefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A|B|C|D|F|GA|GB|H |[LB|LC|LH|LT|LX|LY]|LZ MM NA | NB NN S WAWBWW| X | Y | Z
10 15|15|17| 4 | 8 |75|65[28 |165{45| 9 |1.6| 24 |165|32 | M4X0.7 | 21| 18 | M8X10 | 63 [145(|135(45| 5 | 7 |91
16 15|18 20| 5 | 8 |75|65(28 |23 |55|14|23|33|25|42 | M5X08 |21 |18 |MI0X10| 64 [145|135|55| 6 | 9 |92
1.3-45
% S\VC



Series CJ2Z

Front Flange (F)

CJ2ZF ‘ Bore size H Stroke HPort location on head cover‘

| | g
5 A S
= LA
WA WB
NN Mounting nut*
Piping port j [ ga Pipingport2-M5X0.8 GB Cover surface level
O MM | / ‘——L ™
) |
% : T e ] o o
- AT B o @y ald:
&
T %L\/A( \&f W L
m:] / ET X
Port location on head A F | NA NB FZ 2-0FC
cover: In-line (R) H S + Stroke Mounting
Z + Stroke hete
Rod end nut
DORefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F|FB|FC|FT|FX|FY|FZ|GA|GB| H MM NA | NB NN WA |WB |[WW | S z
10 15 | 15 | 17 4 8 |145|45|16 |24 |14 | 32 | 75|65 |28 [IMAX0.7| 21 | 18 IM8X1.0{/145|135( 45| 63 | 91
16 15 | 18 | 20 5 8 19 | 55123 |33 |20 |42 | 75|65 | 28 IM5X0.8| 21 | 18 [M10X1.0{145|135| 55| 64 | 92
Double Clevis (D)
CJZZD‘ Bore size H Stroke
Rod end nut
Z + Stroke R
H S + Stroke U
+0,030
Piping port NB Dy
MM GA 2-M5X0.8 Ge | /Clevispin
\ (ocdaoT50d0) ¢
(] [5)
o — | B 1 Ah
\{”_ T | =4
= —T
. e s
T mounting . I Rod end nut
Refer to p.1.3-12> } A NA | ki |]
for details. T e d
i | LTY, VAR
s-o1C /| W @..0 .
. ZZ + Stroke J L
LB - —H
Material: Iron
Part No. | Bore | B © d H
NTJ-010A| 10 | 7 |81 |[M4X0.7]3.2
NTJ-015A| 16 | 8 | 9.2 |[M5X0.8| 4
OClevis pins and set rings are attached. Material: Iron
Bore A B C [CD(cd)| CX | Cz D GA | GB | H MM NA | NB R S 0] WA | WB | WW z zZ
10 15 15 17 33| 32 15 4 75 |195| 28 | M4X0.7| 21 31 5 63 8 145|265 | 45 99 110
16 15 18 20 5 6.5 | 18 5 75 |245| 28 | M5X08| 21 36 8 64 10 | 145|315| 55 | 102 | 116
T mounting dimensions (mm)
Bore TC TH TV T™W X TY
10 4.5 29 40 22 32 12
16 5i5) 35 48 28 38 16
1.3-46
ZS\VC



Built-in Speed Controller: Double Acting Double Rod

Series CJ2ZW

210, 216

How to Order

Bore size ¢ CJ1
_10[ 1omm —
_ 16| 16mm CJP
Mounting e

Basic
L Axial foot Standard stroke (mm) CM2
F Front flange 510 | 15, 30, 45, 60 i —
216 | 15, 30, 45, 60 Ccs85

C76

CJ2ZW|L ||16—45 CG1

[ | |
WGoEmeey CDJ2ZW|L |16 /45— c73 MB

® Number of —
With auto switch switches CP95
(Built-in magnet) Auto switch — 2 —
ORefer to the table below for selecting S 1 C95
applicable auto switches. n n
OIf requiring a built-in-magnet cylinder
without an auto switch, refer to the model C92
number example below. R —
Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
8 » Load voltage Auto switch model Lead WireD(m) , . .
Style| Special function [Electrical| § (‘C/)Vlﬂ";% oe ac | Band Rail 05 ]3] 5 INond Apll:)"ac:ble Symbol “-A” (rail mounting) or “-B
enry (2 Perp. | Indine | & Ll N (band mounting) should be suffixed to the
?N\AFl’irr\le) | sy o c76 _ |aeH | @ l@|—|—] c | — part No. of the cylinder with auto switch.
<
S Grommet|"** —| — J200v ] — | A72 |AT2H| @ |@|—|—| £, | Rail mounting |CDI2ZWB16-60-A
2 _ L 12v | 100V | C73 | A73 |A73H | @ |@|@|— " |Band mounting| CDJ2ZWB10-45-B
B No 5 wire 5V, 12v| <100V | C80 | A80 |[A80H | @ |@|—|—| IC |Relay
wi
e ve 24v| 12v | — |C73C|A73C| — | @ |@|/@|@®| — |PC
Connector [—
_ - No, 5V, 12v| <24V | C80C | ABOC | — ® 000 C
Dlagr}%sélockljrcj%canon Grommet|Yes — — — | A7TOW| — o |0 —— | —
3 wire (NPN) sv o1 — H7A1 | F/INV| F79 | @ (@O |— c
Grommet| |3 wire (PNP) ' H7A2 | F7TPV| F7P | ® |@|O|—
= 2 wire 1ov . H7B | F7/BV| J79 | @ (@|O|—|
= Connector H7C | J79C | — o o0
Z ] swre NP | H7NW | FINWV| F7ow | @ |@[O|—|
o Diagnostic indication N , __ _ Relay
8 (2 colour) B AL GI2] Py H7PW F/PW | @ |@|O e
g H7BW [H7BWV| J79W | @ (@ | O |—
o N 2 wire 12v
= | Water resistant -
8 @ colour) Grommet — H7BA — FIBA| — |@|O|—
With timer 3 wire (NPN) sy 10V — —_ E7NT | — |@|O|— |c
™ awire ’ H7NE | — [ Fror | @ [@[O]=
Lalchwwl:wzdz?gsrs)ucuutput (NPN) . H7LF . E7LF o @0 —| —
OLead wire length 0.5m-eeee — e.g.) C73C [10 EEPRPRORPS Z e.g.)C73Cz
BMeeeeeees L C73CL  None:---N C73CN

OSolid state switches marked with* O ” are manufactured upon receipt of order.
@ “D-A79W” cannot be mounted on bore size @10 cylinder with air cushion.

1.3-47

O
:



Series CJ2ZW

Specifications

Space saving air cylinder
with built-in speed controller

Auto switch available

JIS symbol

Double acting/Double rod

¥ ]QF

A\ Precautions

e —————

1 Refer to p.1.3-14 before 1
I handling. 1

|
1.3-48

Action Double acting/Double rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.1MPa

Ambient and fluid temperature

Without auto switch: -=10°C to 70°C, With auto switch; =10°C to 60“CD

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance L0
Speed controller Built-in

Mounting Basic, Axial foot, Front flange
Piston speed 50 to 750mm/s
210 0.035J
Allowable kinetic energy
216 0.090J
ONo freezing
Minimum Strokes for
Standard Stroke (mm) Auto Switch Mountlng
Bore size Standard stroke
10 15. 30 45. 60 e Refer to p.1.3-3.
16 15, 30, 45, 60

Mounting Accessories/Rrefer to p.1.3-12 for details.

Mounting Basic Axial foot Front flange
Mounting nut o o o
Standard
Rod end nut ([ J o (]
] Single knuckle joint ([ J ([ (]
Option 7
Double knuckle joint ([ ([ (]

ODouble clevis or double knuckle joint are packaged with pins and rings.

Mounting Bracket Part No.

Bracket Bore size (mm)
10 16
Foot CJ-L010B CJ-L016B
Flange CJ-F010B CJ-F016B

Auto Switch Mounting Bracket Part No. (Band mounting)

e Bracket part No. Note
(mm)
10 BJ2-010 Common use to all of D-C7,
16 BJ2-016 C8 and D-H7

O
:



Built-in Speed Controller: Double Acting Double Rod Series CJ ZZW

Weight @ Copper Free
Bore size (mm) 10 16 i
Basic weightl ” - 20-CJ2WZ |Mounting || Bore size H stroke | [F37l95%ion,
Additional weight for each 15 of stroke 6 9 Copper free
Mounting | Axalfoo 16 40 Guring CRT manutactaring processes, copper and fuorine
bracket weight | Front flange 5 15 materials are not used as component parts.

OThis basic weight includes weight of rod end nut.

Calculation example: r—
CJ2ZWL10-45 CJi
eBasic weight <o 50 (210) —
e Additional weight «----e-eereereeeeens 6/15 stroke CJ P
e Cylinder stroke -« - 45 stroke L
®Mounting bracket weight --------- 16 (Axial foot)

50+6/15 X 45+16=84g
CM2
N C85
Specifications —
Action Double acting/Double rod C76
Bore size (mm) 210, 816
Max. operating pressure 0.7MPa CG]—
Min. operating pressure 0.1MPa
Cushion Rubber bumper MB
Standard stroke (mm) 15, 30, 45, 60 MB1
Auto switch Possible to be mounted R
Mounting Basic, Axial foot, Front flange CP95
_ _ _ C95
Construction (The cylinder cannot be disassembled.) =
C92
CAl
Bl Cs1

® ® @ ® ®
\
\‘I\ III
Y
= i g 5
S T
Component Parts
No. Description Material Note No. Description Material Note
@ | Rod cover Aluminum alloy White anodized ® | Rodend nut Rolled steel Nickel plated
@ | cylinder tube Stainless steel Piston seal NBR
® | Piston rod Stainless steel @ | Rod seal NBR
@ | piston Brass @ | Check seal NBR
® | Bumper Urethane @ | Tube gasket NBR
® | Speed controller needle Stainless steel @ | Piston gasket NBR
@ | steel ball Bearing steel (5 | Needle seal NBR
Mounting nut Brass Nickel plated

O
:

1.3-49



Series CJ2ZW

Basic (B)
CJZZWB‘ Bore size H Stroke ‘ wA o
] =
=z i { _ ) §\N
5 | ) I
2 WA o
a M - % [=)
= ounting nut 2
NES Piping port 2-M5 X 0.8 y
MM GA Iping port £- - GA NN MM
- L / o
R : ()
{ u
/R
[
A lF.l. NA NA F A
Rod end nut H S + Stroke H + Stroke
Z + 2 X Stroke
URefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F GA H MM NA NDh8 NN S WA WwW z
10 15 | 15 | 17 4 8 75 | 28 M4X07 | 21 8 302 M8 X 1.0 66 | 145 | 45 | 122
16 15 18 20 5 8 75 | 28 M5X0.8 | 21 10830055 M10 X 1.0 67 | 145 | 55 | 123
Axial Foot (L)
CJZZWL‘ Bore size H Stroke ‘
WA
= |
ST | ‘ L Q il
. LA 3}
iend nut WA =
> I\E i - * Cover
NN ounting nu surface
F| GA Piping port 2-M5 X 0.8 GA F NN MM level
NI e s
) i R 5]
A ; Y7 N
188 =H g 1 § &&J i |
[ ot 1T | |! T L1l 1 -
-
- LX
A lIXIY . NA NA | Y X[ A . Lz
H S + Stroke H + Stroke 2.0LC
Z + 2 X Stroke Mounting hole
Rod end nut 1 . =
Material: Iron
Part No.f Bore | B | C d H
NTJ-010A| 10 7 8.1 |[M4X0.7| 3.2
NTJ-015A| 16 8 | 9.2 |M5X08| 4
DRefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B D F LB | LC |LH | LT |LX|LY|LZ|GA| H MM NA NN S |WA|WW| X z
10 15 15 4 8 165 | 4.5 9 16| 24 | 165| 32 | 75| 28 |M4X0.7| 21 |[M8X1.0| 66 |145| 45 5 7 122
16 15 | 18 5 8 23 | 55| 14 |23 |33 | 25|42 | 75| 28 |[M5X0.8| 21 |MI0OX10| 67 |145| 5.5 6 9 |123
1.3-50
% S\VC



Built-in Speed Controller: Double Acting Double Rod Series CJ ZZW

Front Flange (F)

CJ2ZWF|Bore sizeH Stroke |

=t I J‘“‘% —\ 1\
= | £
WA | . CJi1
Mounting nut Cover 2-0FC —
NN GA  Piping port 2-M5 X 0.8 GA NN MM surface level /Mounting CJP
MM ¥ 1 q L hole L
| — rF ]
= S l} | = E e 7 1 - o NP +7 ‘E a_- —_———
. e == / o
=S| | — -, cM2
| FT FX P
A F.l. NA NA F A FZ C85
H S + Stroke H + Stroke N
Z + 2 X Stroke C76
/Rod end nut CG1
MB
MB1
CP95
Material: Iron C95
Part No. | Bore B © d H #——
NTI010A| 10 | 7 |81 |max07]32 |C9O2
NTJ-015A| 16 | 8 | 9.2 |M5x08| 4 ————
. . CAl
ORefer to p.1.3-12 for details of the mounting nut. (mm) =——
Bore A B D F FB FC FT FX FY FzZ GA H MM NA NN S WA |WW | Z CSl
10 15 15 4 8 145 | 45 1.6 24 14 32 7.5 28 M4 X 0.7 21 M8 X 1.0 66 |145| 45 | 122
16 15 18 5 8 19 55 | 23 33 20 42 7.5 28 M5 X 0.8 21 M10 X 1.0 67 |145| 55 | 123

1.3-51

O
:



Low Friction: Double Acting Single Rod

Series CJ20Q

210, 216

How to Order

Bore size ¢
1_0 10mm
16 16mm
Mounting
B Basic
L Axial foot
F Front flange Standard stroke (mm)
D Double clevis 810 |15, 30, 45, 60, 75, 100, 125, 150
216 |15, 30, 45, 60, 75, 100, 125, 150, 175, 200

L ||16 — 60
| | | |
L||16—60| m—C73

20
o0

® Number of

. With auto switch switches
Band mounting (Built-in magnet) . - _ 1 2
_ Auto switch = ! ¢
Port location on head cover ORefer to the table below for
selecting applicable auto switches. n
Symbol Port location

OIf requiring a built-in magnet cylinder
without an auto switch, refer to the
model number example below.

— Perpendicular
R In-line
ORefer to p.1.3-54 for the configuration.

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
5 » Load voltage Auto switch model Lead wireD(m) ) X .
Style| Special function |Electical| 8 (ng‘lﬂ) . A - Rail 0.5 | 3 | 5 [None] Aplgz)lgdable Symbol *-A" (rail mounting) or *-B
ety |2 an Perp. | Indine | & |V @] N (band mounting) should be suffixed to the
(SN\AF/’iIr\li | sy . c76 _ |ateH | @ |l@|—|—| 1c | — part No. of the cylinder with auto switch.
= Y —| = — .
I Grommet | 200v A72 |AT2H | @ | @ _ £ |Rail mounting | CDJ2QB16-60-A
2 _ | 12v | 100V | C73 | A73 |A73H | @ @@ |— Band mounting| CDJ2QB10-45-B
3 No 2 wire 5V,12v| <100V | C80 | A80 [A80H | @ |@®|—|— | IC |Relay
wi
e v 24v| 12v | — |C73C|A73C| — | @ |@|®@| @ —|PLC
Connector [—
_ - No 5V,12V| <24V | C80C | ABOC | — ® 000 cC
Dlagr}gsclg:lér&?)lcauon Grommet |Yes - J— J— A7OW | — ® |0 —|—| —
3 wire (NPN) v — H7AL | F/NV| F79 | @ (@O~ |«
Grommet| | 3wire (PNP) ' H7A2 | F7PV| F7P | @ |@|O|—
= 2 wire 1oy - H7B |[F7BV|J79 | @ (@|O|—|
2 Connector H7C | J79C | — ® 000
zZ ] swre(ve)| H7NW | FINWV| F7ow | @ |@ O |—|
o Diagnostic indication N , _ _ Relay
3 (2 coloun) Yes 3 wire (PNP) hav H7PW FIPW| @ (@O PLC
g H7BW [H7BWV| J79W | @ | @ |O |—
o - 2 wire 12v
= | Water resistant -
[% 2 colour) Grommet — H7BA | — FIBA| — | @|O|—
With timer 3 wire (NPN) sV 12V — —_ FINT | — |@|O|— N
R 4 wire ‘ HINF| — |F79F | @ |@|O|—
Lalchwwllzzd;?:s;lmcutpul (NPN) _ H7LE _ E7LF e 0|—| —
OLead wire length 0.5m--enen — e.g.) C73C |7 ERPPPRRRD Z e.g.)C73Cz

- C73CL None N C73CN
OSolid state switches marked with* O ” are manufactured upon receipt of order.

1.3-52

O

SVC



Low Friction Style: Double Acting Single Rod Series CJ 2Q

Application Example

Specially designed to keep

friction of the piston to a

The low friction cylinder should be used with precision regulator (e.g. Series IR).

minimum. Suitable for

contact-pressure control

requiring smooth operation Driving roller Winding roller
at low pressures. ' —_—
CJi
Low Friction —
Min. operating pressure: 0.03MPa CJP
CM2
C85
C76
Specifications
- P — CG1
’ Action Double acting/Single rod —
Fluid Air MB
Proof pressure 1.05MPa —
Max. operating pressure 0.7MPa MB1
Min. operating pressure 0.03MPa CP95
Ambient and fluid temperature Without auto switch: -10°C to 70°C, With auto switch: -10°C to o E—
Cushion Rubber bumper C95
Lubrication Non-lube C92
Thread tolerance JIS class 2
Stroke tolerance *§0 CA1l
Bore size (mm) 210, 916 —_——
Mounting Basic, Axial foot, CSl
Front flange, Double clevis
JIS symbol
. . Piston speed 50 to 750mm/s
Double acting/Single rod
210 0.035J
Allowable kinetic energy
216 0.090J
| I ONo freezing
Minimum Stroke for
Standard Stroke «m  Auto Switch Mounting
1 Bore size Standard stroke
A PrecaUtlonS *Refer to p.1.3-3.
10 15, 30, 45, 60, 75,
-y 100, 125, 150
1 Refer to p.0-39 to 0-46 before 1
1 i 1 15, 30, 45, 60, 75
Landing 4 " | 200,225, 150,175, 200

O
:

1.3-53



Series CJ2Q)

Mounting Accessories/refer to p.1.3-12 for details.

orog | sose | At |t oo
o | Mounting nut o o ([ J —
'rgu Rod end nut ([ ] [ [ ] ([ ]
% Clevis pin — — — @
| Single knuckle joint o o o o
'% Double knuckle joint" ] [ ] [ ] [ ]
© T bracket — — — [ J

ODouble clevis or double knuckle joint are packaged with pins and rings.

Mounting Bracket Part No.

Bore size (mm)

Mounting bracket

10 16
Foot CJ-L010B CJ-L016B
Flange CJ-F010B CJ-FO16B
T bracket! CJ-T010B CJ-T016B

OT bracket is used with double clevis (D).

Auto Switch Mounting Bracket Part No. (Band mounting)

Bore size Bracket part No. Note
(mm)
10 BJ2-010 Common use to all of D-C7,
16 BJ2-016 C8 and D-H7

(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above
when shipped.

Q Note) A set of stainless steel mounting screws “BBA4” is attached.

Also, when a switch only is shipped, “BBA4” screws are attached.

Port Location on Head Cover

Either perpendicular to the cylinder axis or in-line with the
cylinder axis is available for basic style.

In-line Perpendicular

Sliding Resistance at the Low Friction Side

0.08

gl
0.07
/ ¢§‘6 —

o o
o o
a t

0.04 ~

L
=

o
Q
@®

Sliding resistanceJ(MPa)

o©
Q
]

©
o
b=

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7
Operating pressure (MPa)

Weight (@
Bore size (mm) 10 16
Basic \/\/eightD 24 55
Additional weight for each 15 of stroke 4 65

Axial foot 8 20

Mounting Front fi
bracket weight ront flange 5 15
Double clevis™ (with pins) 4 10

OThis basic weight includes weights of mounting nut and rod end nut.
@ The mounting nut is not attached to the double clevis style, so the mounting
nut weight is already reduced.
Calculation example) CJ2QL10-45
* BaSiC WEIght «+-seveeeseeeeencnnns 24 (210)
« Additional weight -+ 4/15 stroke
* Cylinder stroke -« -+ 45 stroke
» Mounting bracket weight -------- 8 (Axial foot)
24+4/15 X 45+8=44g

1.3-54

'\

OConverted to cylinder operating pressure.




Low Friction Style: Double Acting Single Rod Series CJ 2Q

Construction (The cylinder cannot be disassembled.)

@ ® @ ® @ @
CJ1
CJP
Y
i [ s 4 —
= = 117 I
- e CM2
C85
Component Parts —
No. Description Material Note No. Description Material Note C76
@® Rod cover Aluminum alloy White anodized @ Rod end nut Rolled steel Nickel plated r—
@ Head cover Aluminum alloy White anodized Bumper Urethane CG1
©) Cylinder tube Stainless steel © Piston seal NBR
@ Piston rod Stainless steel Rod seal NBR MB
® Piston Brass @ Tube gasket NBR e
® Mounting nut Brass Nickel plated @ Piston gasket NBR MB1
CP95
: C95
Basic Style (B) L
. : C92
CJ2QB | Bore size H Stroke ||Port location on head cover | i
CAl
4| Mounting nut* —
Rod end nut Z CS1
NN | GA Piping port 2-M5 X 0.8 —

Piping port

/M5 X 0.8 MM 1)
a vim
7 oyl Al

1

Port location on head
cover: In-line (R)

A _F_I_NA 2
. H - S + Stroke
Z + Stroke -/ Rod end nut
d
g
€10
L_B‘ -
Material: Iron
Part No.|Bore | B | C d H
NTJ-010A| 10 | 7 |81 [M4X0.7] 3.2
NTJ-015A| 16 | 8 [ 9.2 [M5X0.8| 4
ORefer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F GA GB H MM NA NB ND NN S z
10 15 12 14 4 8 8 5 28 M4 X 0.7 12.5 9.5 8_8022 M8 X 1.0 46 74
16 15 18 20 5 8 8 5 28 M5 X 0.8 12.5 9.5 10_8'022 M10 X 1.0 47 75

Refer to p.1.3-8 to 1.3-10 for dimensions of each mounting bracket.

1.3-55

O
:



Direct Mount: Double Acting Single Rod

Series CJ2R

210, 216

How to Order

Bore size ¢
T 10mm
1__6 16mm
. Standard stroke (mm)
Mounting 210 | 15, 30, 45, 60, 75, 100, 125, 150
_A | Botiom mounting 216 | 15, 30, 45, 60, 75, 100, 125, 150, 175, 200

Standard CJZR,_AT_\ 16 460
| | |

cpi2rA[i6He0][ Hc7a

With auto switch ¢ Number of
(Built-in magnet) switches
. ; _ 2
Port location on head cover Auto switch —— 1 <
ORefer to the table below for selecting S 1
Symbol Port location applicable auto switches. n

OIf requiring a built-in magnet

— Perpendicular ) : .
P cylinder without an auto switch,

Rail mounting

R In-line refer to the model number example
ORefer to p.1.3-58 for the configuration. below.
Applicable Auto Switches/ Rrefer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
S Load voltage Auto switch model Lead wireD(m)
; . icall ® | Wiri - Applicabl W AP (pai : w g
Style| Special function EI:r?::Ical _g (OL:;'F;E) be ac Band Rail 05 ]3] 5 None pl% :;1 e Symbol “-A (rall mounting) or _B
Yy |2 Perp. | In-ine | © W@ N (band mounting) should be suffixed to the
?N‘gilile) —| sv . c76 _ |a76H | @ |@|—|—|1c | — part No. of the cylinder with auto switch.
< Y, - - P — | — . .
S Grommet |'¢* 200v A72 |AT2H | @ | @ _ £y | Rail mounting | CDJ2RA16-60-A
2 _ - 12v | 100v | C78 | A78 |A7SH| @ |@ @ — " [Band mounting| cDJ2RA10-45-8
8 No 2 wire 5V,12V| <100V| C80 A80 |A8OH | @ |@|—|— | IC |Relay
h comecrl ™! 24v| 12v | — |C73C|A73C| — |® |@|®@|®@| — |PLC
v - No 5V,12V| < 24V | C80C | ABOC | — ® 000 C
Dlagr%gségéz(#catmn Grommet|ves — —_ — A79W | — ® e —— | —
3wi —
w?re(NPN) sviv| — H7A1 | FINV| F79 | @ (@|O c
Grommet 3 wire (PNP) H7A2 | F7TPV | F7P | @ (@ | O|—
s 2 wire 12v o H7B | F7BV | J79 ® | O|—|
2 Connector H7C | J79C | — o o/ 00
?, . , 3 wire (NPN) 5V 12V H7NW [FINWV|F79W | @ @ | O |— I
o iagnostic indication . , . _ Relay
I @ colour) vesl ST PP | H7PW F7PW | @ (@O g
g H7BW |[H7BWV|J79W | @ | @ | O |—
=] N 2 wire 12V
= Water resistant -
3 2 coloun) | Grommet — |H/BA| — |F/BA| — |@|O|—
With timer 3 wire (NPN) — — |FINT | — |@|O]—
Wit diagnostic output | 5V,12V IC
R 4 wire HINF| — |[F79F | @ @ |O|—
LatchwnTzd;gl;;S’s)tlcoulput (NPN) _ H7LE . F7LF elo|l—| —
OLead wire length 0.5m:-eeeee — e.g.)C73C [S111 EXTSCRRPIRS Z e.g.)C73Cz
BMerreeeens L C73CL  None: - N C73CN

[OSolid state switches marked with“ O ” are manufactured upon receipt of order.

1.3-56

O
:



Direct Mount: Double Acting Single Rod Series CJ 2R

Specifications

Square rod cover makes direct
contact mounting possible.

JIS symbol

Double acting/Single rod

A Precautions

e —————

r
1 Refer to p.1.3-3 before I
I handling. 1

U |

Action Double acting/Single rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.06MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: =10°C to 60"CD

Cushion Rubber bumper CJ 1
Lubrication Non-lube —
Thread tolerance JIS class 2 CJP
Stroke tolerance .0 -
Bore size (mm) 210, 16 CJ2
Mounting Bottom mounting CM2
Piston speed 50 to 750mm/s —
210 0.035J C85
Allowable kinetic energy 0.0903
216 .
. C76
ONo freezing
CG1
Standard Stroke (mm) ——
Bore size Standard stroke MB
10 15, 30, 45, 60, 75, 100, 125, 150 MB]_
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200
CP95
Minimum Strokes for Auto Switches Mounting —
Min. C95
Mounting | Auto switch model N“”_‘ber & stroke L
switches (mm) —
D.C7 2 (same surface) 50 C92
D:CS 2 (different surfaces) 15 —
1 15 CAl
= D-H70O 2 (same surface) 60 71
= D-H7OW -
E D-H7BAL 2 (different surfaces) 20 CS
g D-H7NF 1 20
- D-C73C 2 (same surface) 65
8 D-C80C 2 (different surfaces) 15
m
D-H7C 1 15
2 (same surface) 65
D-H7LF 2 (different surfaces) 25
1 25
D-A7/A8 2 10
D-A73C/A80C 1 5
D-F70V 2 S
o D-J79C 1 5
c
£ | D-ATOW 2 15
é D-F70WV 1 10
= D-F70, J79,
& | D-F79F, 2 15
D-A70H, A8OH
D-F70W, J79W 1 15
D-F7BAL
2 25
D-F7LF
1 25
Accesso ry/Refer to p.1.3-12 for details.
Standard Rod end nut
Option Single knuckle joint, Double knuckle jointD
ODouble knuckle joint is packaged with pins and rings.
1.3-57

O
:



Series CJ2R

Weight (9) Port Location on the Head Cover
Bore size (mm) 10 16 Either perpendicular to the cylinder axis or in-line
Basic weightD 36 715 wnh_the cylmder axis is _ava_ulable for basic style.
(26 is available only as in-line style.)
Additional weight for each 15 of stroke 4 65

OThis basic weight includes weights of rod end nut.

Calculation example) CJ2RA10-45

®Basic weight: -+ 36 (210)
® Additional weight: ---- 4/15 stroke
e Cylinder stroke: -+ 45 stroke

36+4/15 X 45=48¢g

Clean Series

Perpendicular

Auto Switch Mounting
Bracket Part No.(Band mounting)

Bore size Bracket part No. Note
(mm)
10 BJ2-010 Common use to
all of D-C7, C8
16 BJ2-016 |and D-H7

screws “BBA4” is attached. (A switch

Q Note) A set of stainless steel mounting

mounting band is not attached.
Please order the band separately.)
“BBA4” screws are used for D-

C7/C8/H7.

“D-H7BAL” switch is set on the
cylinder with the screws above when

shipped.

Also, when a switch only is shipped,
“BBA4” screws are attached.

10-CJ2RA | Mounting || Bore size |- Stroke | [Pftlocation on

Clean series

The rod section of actuator is reinforced with the double-seal
structure. The air cylinder can be incorporated in the system
which directly discharges the external leak from the clean

room through the relief port.

Construction

Specifications

Action Double acting/Single rod
Bore size (mm) 210, 916
Max. operating pressure 0.7MPa
Min. operating pressure 0.08MPa

Cushion

Rubber bumper

Standard stroke (mm)

Same as the standard (Refer to p.1.3-57.)

Auto switch

Possible to be mounted

Mounting

Rear pivot mounting

1.3-58

O
:




Direct Mount: Double Acting Single Rod Series CJ 2R

Construction (The cylinder cannot be disassembled.)

D)

b,

®@ @

3

1 an )
W
N

1

K
L/

__HA

|
i | } ' - oM N
Il L] Wi/ |
— A/ 5 E |
Component Parts
No. Description Material Note No. Description Material Note
@® Rod cover Aluminum alloy White anodized @ Bumper Urethane
@ Head cover Aluminum alloy White anodized Piston seal NBR
® Cylinder tube Stainless steel ® Rod seal NBR
@ Piston rod Stainless steel Piston gasket NBR
® Piston Brass a Tube gasket NBR
® Rod end nut Rolled steel Nickel plated
Bottom Mounting
CI2RA ‘ Bore size H Stroke HPort location on head cover
Port location on head X
cover: In-line (R D o
(R) GA Piping port 2-M5 X 0.8
Piping port M5 X 0.8 Y
5 MM ] GB
) ol ——r -
2% N T L
N 1 2 e f__-__
£ b - rﬁi/ﬁ1
o8 Rodendnut ) | 2] ‘
A NA NB
laINAA AL
H S + Stroke
Z + Stroke
Material: Iron
PartNo.| Bore | B | C d H
NTJ-010A| 10 | 7 | 8.1 |M4X07]| 32
NTJ-015A| 16 | 8 | 9.2 |M5X08| 4
(mm)
Bore A B C D GA | GB H L LB LD LH | LX MM NA | NB X Y S z
10 15 | 12 | 14 4 16 5 20 | 23 | 16 |@35,6.5Depthof counterbore:4| 8 12 | M4XO0.7 |205| 95 | 28 8 54 74
16 15 18 20 5 16 5 20 26 20 | 4.5, o8Depth of counter bore:5 | 10 16 | M5X0.8|205| 9.5 28 8 55 75
1.3-59

O
:

CJ1
CJP

s




Series CDJ2R

Auto Switch Mounting Position

Solid State Switch

<Band mounting>

Reed Switch
<Band mounting>
Auto switch D-CriCe Auto swit
1
| - \\

\ B
= “l4|

2l

( ): D-H7LF

Auto switch

D-H70O/H70W/H7BAL/H7OF

x

<Rail mounting
D-F7/J7
D-F7OOWA79W
D-F7LIF/F7BAL

. Auto switch
- [
== a'n \\
@l SEh
A 36.7
Auto switch ;ﬁ?}hgﬂountmg>
| 6 5 . LT
E%‘\ @" A e Auto switch
All 23 l[_g =
Auto switch D-A7CH/A80H A 23 |
- - @)
_"?;‘J't;/ - N rgq 7&3\? ‘ () D-F?LF
E&tﬂ: & L — I\ ']:rd gmj@:}ﬁ- ﬂ . Auto switch
74 E@E
A 22 1
Auto switch ._'I
7Y e gv
|
All 24 |
Auto switch
@ \
R i
L |
v ;o
Al| 23.5

Auto Switch Mounting Position

Auto switch
model D-C7 D-A700H/A80H D-F70O0W
D-C8 D-H70] D-H7OW D-A7 D-A73C/A80C D-F7BAL
D-C73C D-H7C D-H7BAL D-A8 B:E;/QJCY D-F70F D-A79W
D-C80C D-H70F D-J79W
D-F70OV D-F7O0WV
Bore size A B A B A B A B A B A B A B
10 25 25 15 15 0 0 3 3 35 35 7.5 75 05 0.5
16 3 3 2 2 0.5 0.5 35 35 4 4 8 8 1 1
Auto Switch Mounting Height
Auto smgtclh D-C7/C8 D-A7CIH/AS0H
model | D-H7C/H7CO0W| D-C73C D-A7 D-F7/37 D-A73C D-F70V
D-H70F D-C80C D-H7C D-A8  |D-F7TOWN79W| D-A80C D-F7TOWV D-J79C D-A7OW
D-H7BAL D-F7BAL/F7OIF
Bore size Hs Hs Hs Hs Hs Hs Hs Hs Hs
10 17 19.5 20 16.5 17.5 235 20 23 19
16 20.5 23 235 19.5 20.5 26.5 23 26 22
1.3-60
ZS\NC



Direct Mount: Single Acting Spring Return/Extend

Series CJ2R

210, 216

How to Order

¢ Standard stroke (mm) —
Bore size @ 210 |15, 30, 45, 60 CJP
10 | 10mm 216 |15, 30, 45, 60, 75, 100, 125, 150 7
16 | 16mm
Action
Mounting S | Single acting/Spring Return CM2
A | Bottom mounting T | Single acting/Spring Extend css
Standard CJ2RA|[16 45| S oL
WIGENOSWIOGE CDJ2RA[16H45|| S —C73 MB
With auto switch ® Number of  ———
(Buitin magney switches  |CP5
Port location on head cover Auto switch _— 2
! v ORefer to the table below for selecting S 1 C95
Symbol Port location applicable auto switches. n n
- OIf requiring a built-in magnet
— Perpendicular cylinder without an auto switch, C92
R In-line refer to the model number example —
DORefer to p.1.3-58 for the configuration. below. CA 1
ONot applicable to single acting/spring L
extend style (T). CS]_
Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
5 Load voltage Auto switch model Lead wireu(m)
’ ] ical| & | Wiring : Applicable Symbol “-A” (rail mounting) or “-B”
Style| Special function |Electrical] § Rail 05 | 3| 5 |Nong]
enry |2 | (Outpuy bc AC Sand perp. | Indine | O | O @] M ead (band mounting) should be suffixed to the
(3Nv;i’:‘e) | sv . c76 _ |a7en| @ l@|—|—| c | — part No. of the cylinder with auto switch.
<
S Grommet | | — |200v ]| — | A2 |A72H | @ |®|—|—| £, | Rail mounting | CDJ2RA16-60S-A
z _ - 12v | 100v | C78 | A78 |ATSH| @ |@|@|— Band mounting | CDJ2RA10-455-B
3 No 2w 5V, 12v| <100V | C80 | A80 |[A80H | ® (@ |—|—| IC |Relay
wire
e v 24v| 12v | — |C73C|A73C| — | @ |@|®@|®| — |PLC
Connector[—
» - No 5V, 12v| <24V | C80C | A80OC | — ® 000 C
Dlagrasélé):lérl\ﬁ)lcauon Grommet|Yes — — — | A7T9W | — ® 0 ——|—
3 wire (NPN) oo — H7AL | FINV| F79 | @ (@ |O|— c
Grommet 3 wire (PNP) ' H7A2 | FTPV| F7P | @ (@ |O|—
s 2 wire 12v o H7B |F7TBV | J79 | @ (@ |O|—|
2 Connector H7C | J79C | — ® o 00
= ] Bween| [ H7NW [ FTNwV [ Frow | @ [@ o]
@ |Diagnostic indication ' — — Relay
8 (2 colour) Yes 3 wire (PNP) 24V H7PW F7PW| @ (@O pLC
2 H7BW [H7BWV|J79W | @ | @ | O |—
=] : 2 wire 12V
= | Water resistant —
3 (2 colour) | Grommet — |H/BA| — |F/BA| — |@|O|—
With timer 3 wire (NPN) - —_ — FINT | — |@|O|— |C
W\lhdl&gcn(;)é\ll(r:)oulpu\ 4 wire ! H7NF p— F79F ® 0 O|—
Latchwnlzzd\;g‘]guo;ncnulput (NPN) . H7LE . F7LE elo|—| —
OLead wire length 0.5m-.....— e.g.) C73C 5m:. .
LT3 FRTP L C73CL  None:- N C73CN

OSolid state switches marked with* O ” are manufactured upon receipt of order.

ZSNC

1.3-61



Series CJ2R

Specifications

Square rod cover makes direct

contact mounting possible.

JIS symbol

Single acting/
Spring return

Y A

Single acting/
Spring extend

A\ Precautions

1 Refer to p.1.3-21 before I
I handling. 1

U |

1.3-62

Action Single acting/Spring return| Single acting/Spring extend
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.15MPa

Ambient and fluid temperature

Without auto switch: -10°C to 70°C, With auto switch: -10°C to go°c

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance o

Bore size (mm) 210, 916

Mounting

Bottom mounting

Piston speed

50 to 750mm/s

Allowable kinetic energy

210 0.035J

216 0.090J

ONo freezing

Standard Stroke

(mm)
Bore size Standard stroke
10 15, 30, 45, 60
16 15, 30, 45, 60, 75, 100, 125, 150

Minimum Stokes for Auto Switch Mounting

*Refer to p.1.3-57.

Accesso ry/Refer to p.1.3-12 for details.

Standard

Rod end nut

Option

Single knuckle joint, Double knuckle jointD

ODouble knuckle joint is packaged with pins and rings.

Auto Switch Mounting Bracket Part No. (Band mounting)

Bore size Bracket part Note
(mm) No.
10 BJ2-010 Common use to all of D-C7,
16 BJ2-016 C8 and D-H7

switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above

QNote) A set of stainless steel mounting screws “BBA4” is attached. (A

when shipped.
Also, when a switch only is shipped, “BBA4” screws are
attached.
Spring Force (N)
Bore size Retracted Extended
(mm) side side
10 6.86 3.53
16 14.2 6.86

O
:



Direct Mount: Single Acting Spring Return/Extend Series CJ 2R

Weight
Spring Return o) Spring Extend @
Bore size (mm) 210 216 Bore size (mm) 210 216
15 Stroke 38 73 15 Stroke a4 78
30 Stroke 45 90 30 Stroke 50 94
45 Stroke 54 112 45 Stroke 59 114
0 60 Stroke 63 134 .0 60 Stroke 67 135
Weight Weight
75 Stroke — 155 75 Stroke — 154 cJ1
100 Stroke — 198 100 Stroke — 192 [
125 Stroke — 234 125 Stroke — 226 CJP
150 Stroke — 260 150 Stroke — 250
OThis weight includes weight of rod end nut. OThis weight includes weight of rod end nut.
CM2
C85
Construction (The cylinder cannot be disassembled.) C76
CJ2RAC-0IS CG1
—PVA‘—F‘ ) ® @ ® @\ ) @ 3 @ G \“ ® q a @ MB
'| \\. \ '\ \ II ; I,-" MB1
. \ \ —
\ Vo CP95
= i 3 A C95
T U S —
- @ co2
CAl
CJ2RAC-OT CS1
| /\V\ @ Q% Q 2@ © % ® % ® (3) ;7\ @
I
F \\ /
IE \\ N ‘ I|I
|
II| \ _d)_ \ | / / l
Ay b
N, |
O E m%iﬁ%/ m’—
{ B < /
_ Y |
+ | —
Component Parts
No. Description Material Note No. Description Material Note
@® Rod cover Aluminum alloy White anodized Spring seat Brass
@ Head cover Aluminum alloy White anodized ©) Bumper Urethane
® Cylinder tube Stainless steel Rod end nut Rolled steel Nickel plated
@ Piston rod Stainless steel @ Piston seal NBR
® Piston A Brass @ Tube gasket NBR
® Piston B Brass \E] Piston gasket NBR
©) Return spring Piano wire Rod seal NBR
1.3-63

O
:



Series CJ2R

Single Acting/Bottom Mounting

Spring return/CJ2RA ‘ Bore size H Stroke ‘ S‘ Port location on head cover

X Piping port M5 X 0.8
Y Bleed port GB_
MM = Piping port M5 X 0.8
O, a
9) °© | 1
o S = ‘%
< i X =
Rod end nut ‘ — .
A | [LNA LN_B. LH o.oLD Port location on head
H S + Stroke LB cover: In-line (R)
Z + Stroke
Spring extend/CJ2RA| Bore size H Stroke | T
X + Stroke X
Rod end nut GA Piping port M5 X 0.8 Bleed port
Y
MM “"
Q')C) \‘ % ’\'."_ A
‘r - T ,\’ B[
= P Yat
DB .1_1
A NA NB
H + Stroke S + Stroke
Z + 2 X Stroke
H
Material: Iron
PartNo. | Bore | B | C d H
NTJ-010A 10 7 8.1 ([M4X0.7| 3.2
NTJ-015A 16 8 9.2 (M5X0.8| 4
(mm)
Bore A B C D GB H L LB LD LH LX MM NA | NB X Y
10 15 12 14 4 5 20 23 16 |035, 96.5Depth of counterhore: 4| 8 12 M4 X 0.7 13.5 9.5 28 8
16 15 18 20 5) 5 20 26 20  |04.5, 08Depth of counter bore: 5| 10 16 M5 X 0.8 135 | 95 28 8
Dimensions by stroke/Spring return
Symboy S Z
St
Bore %k | 5 101516 to 3031 to 4546 to 60] 6L to 75|76 to 100[ 10110 125] 12610 150 5 to 15[ 16 to 30]31 to 4546 to 60|61 to 7576 to 100] 101 0 125 126 o 150
10 53.5 | 61 73 85 — — — — | 735 | 81 93 | 105 | — — — —
16 53.5 | 62 74 86 92 | 116 | 134 | 146 | 735 | 82 94 | 106 | 112 | 136 | 154 | 166
Dimensions by stroke/Spring extend (Dimensions not mentioned in the table below are the same as the above table.)
Bore GA | NA | NB S z
5to 15|16 t0 30|31 to 45 [46 to 60| 6L to 75|76 to 100{ 10110125 | 12610 150|5 to 15|16 to 30 | 31 to 45 |46 to 60| 61 to 75|76 to 100|101 to 125 | 126 to 150
10 16 | 205 | 55 | 56.5 64 76 88 — — — — 76.5 84 96 108 — — — —
16 16 |[205| 55 | 565 | 65 77 89 95 | 119 | 137 | 149 | 765 | 85 97 | 109 | 115 | 139 | 157 | 169
1.3-64

O
:



Non-rotating Rod/Direct Mount: Double Acting Single Rod

Series CJ2R

210, 216

How to Order

CJi
Bore size ¢
10| 10mm CJiP
16 | 16mm

Standard stroke (mm)

dl% = Mounting 210 |15, 30, 45, 60, 75, 100, 125, 150 CM2
. A_|Bottom mounting 216 |15, 30, 45, 60, 75, 100, 125, 150, 175, 200 —
C85

CJ2RKA[16H60 €76
WEETEEY Cou2rKa[6B0] co

WGGETNGETIGE CDJ2RKA[16— 60| —C73 MB
MB1

With auto switch ® Number of —
(built-in magnet) switches CP95
. Auto switch — 2 =~
Port location on head cover ) —_—
ORefer to the table below for selecting S 1 C95
Symbol Port location applicable auto switches. n
. OIf requiring a built-in-magnet
— Perpendicular cylinder without an auto switch, Cco92
R In-line refer to the model number example L
ORefer to p.1.3-67 for the configuration. below. CA1l
Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
5 B Load voltage Auto switch model Lead wire"(m) : ) )
Style| Special function [Electrical| § ((\SVJ;EL%) e e Rail 0.5 | 3 | 5 [None Ap{:)l:;:ble Symbol *-A” (rail mounting) or *-B
ay B Band Toeo T indine | © |O[@| M) (band mounting) should be suffixed to the
?Nvgulr\g | sy o c76 _ a6 | @ l@|—|—] c | — part No. of the cylinder with auto switch.
<
3 Grommet|'*® | — |20V | — | A2 |A7T2H| @ |@|—|—| £ | Rail mounting | CDJ2RKA16-60-A
: _ - 12v | 100V | €73 | ATS |ATSH| @ |@|@|— Band mounting | CDJ2RKA10-45-B
B No o 5V, 12V| <100V | C80 A80 |[A80H | @ (@ |—|— | IC |Relay
wire
e Ye 24v| 12v | — |C73C|A73C| — | @ |@|@|®| — |PLC
Connector —
‘ - No, 5V, 12V| <24V | C80C | A8B0C | — ® 0600 C
D|agn(gsé|é:k|jr£;cat\on Grommet|Yes J— J— — ATOW | — e 0 —|— | —
3 wire (NPN) v o1 — H7AL | FINV| F79 | @ (@ |O|— c
Grommet| | 3wire (PNP) ' H7A2 | F7TPV | F7P | ® |@|O|—
= ) H7B |F7TBV| J79 | @ (@ |O|—
S 2 wire 12V — —
2 Connector H7C | J79C | — o o0 0
2 ; swie (NP | H7NW | FINWV| F7owW | @ |@|O|—|
O  [Diagnostic indication - ) — — Relay
8 (2 colour) ves 3 wire (PNP) "y H7PW FI/PW| @ (@|O pLG
g H7BW [H7TBWV| J79W | @ (@ | O |—
S [ 2 wire 12v
= | Water resistant —
3 (2 colour) | Grommet — |H/BA| — |F/BA|— |@|O|—
With timer 3 wire (NPN) sy 10y — — F7NT | — |@|O|— o
e o ! A wire ' H/NF| — |F79F | @ |®O|—
Lalchwwlr(wzd;?gsgucoutpul (NPN) . H7LF . E7LE o l@elo|—| —
OLead wire length 0.5m:-eeeeee — e.g.)C73C |13 EEESTRPRCRES Z e.g.) C73Cz
3M-eeeees L C73CL  None------ N C73CN

OSolid state switches marked with* O ” are manufactured upon receipt of order.

1.3-65

O
:



Series CJ2RK

Specifications

Non-rotating rod with

hexagon rod.

High non-rotating accuracy

210: £1.5°, g16: +1°

Auto switch can be mounted to
detect the cylinder stroke position.

JIS symbol

Double acting/Single rod

&

]

Action Double acting/Single rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.06MPa

Ambient and fluid temperature

Without auto switch: —~10°C to 70°C, With auto switch: -10°C to goec”

Cushion Rubber bumper

Lubrication Non-lube

Thread tolerance JIS class 2
+1.0

Stroke tolerance

0

Non-rotating accuracy

210: £1.5°, @16: £1°

Mounting Bottom mounting
Piston speed 50 to 750mm/s
210 0.035J
Allowable kinetic energy
216 0.090J

ONo freezing

Standard Stroke

(mm)

Bore size Standard stroke
10 15, 30, 45, 60, 75, 100, 125, 150
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200

Minimum Strokes for Auto Switch Mounting

*Refer to p.1.3-57.

Accesso ry/Refer to p.1.3-12 for details.

Standard

Rod end nut

Option Single knuckle joint, Double knuckle jointD

A\ Precautions

r
1 Refer to p.0-39 to 0-46 before 1

I handling.

U |

1.3-66

O
:

ODouble knuckle joint is packaged with pins and rings.



Non-rotating Rod/Direct Mount: Double Acting Single Rod Series CJ 2RK

Weight )
Bore size (mm) 10 16
Basic WeightD 36 715
Additional weight for each 15 of stroke 4 6.5

OThis basic weight includes weight of rod end nut.
Calculation example: CJ2RKA10-45

* Basic weight: ««--eeeeees 36 (210)
« Additional weight: -+ 4/15 stroke
 Cylinder stroke: -+« 45 stroke

36+4/15 X 45=48g
Port Location on Head Cover

Either perpendicular to the cylinder axis or in-line with the cylinder axis is
available for basic.

Auto Switch Mounting Bracket Part No. (Band mounting)

Bore size Bracket part No. Note
(mm)
10 BJ2-010 Common use to all of
16 BJ2-016 D-C7, C8 and D-H7

(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL" switch is set on the cylinder with the screws above
when shipped.

Also, when a switch only is shipped, “BBA4” screws are attached.

QNote) A set of stainless steel mounting screws “BBA4” is attached.

A\ Caution
Precautions on handling
<Mounting>

® Avoid using the air cylinder in such a way that rotational torque would be
applied to the piston rod because this will deform the non-rotating guide,
thus affecting the non-rotating accuracy. Refer to the table below for the
approximate values of the allowable range of rotational torque.

210
0.02

216
0.04

Allowable rotational torque (Nm)

e Operate the cylinder in such a way that the load to the piston rod is
always applied in the axial direction.

®To screw a bracket onto the threaded portion at the tip of the piston rod,
make sure to retract the piston rod entirely, and place a wrench over the
flat portion of the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to the non-rotating guide.

Construction (The cylinder cannot be disassembled.)

= w—

I

—
@

/
P
®
®
/ @
—®
—aQ
EE—

Component Parts

'\

No. Description Material Note No. Description Material Note
® Rod cover Aluminum alloy White anodized @) Bumper Urethane
® Head cover Aluminum alloy White anodized ® Piston seal NBR
® Cylinder tube Stainless steel ® Rod seal NBR
@ Piston rod Stainless steel @ Piston gasket NBR
® Piston Brass ) Tube gasket NBR
® Rod end nut Rolled steel Nickel plated
1.3-67

CJ1
CJP

s




Series CJ2RK

Bottom Mounting

CJ2RKA ‘Bore size H Stroke ‘ ‘Port location on head cover

X,
GA GB
Rod end nut Y
Piping port MM ™ Piping port 2-M5 X 0.8
= = r
. ey S
— = KA
Port location on head NB | LH 2.0LD ;
o ' Rod cross section
cover: In-line (R) S + Stroke LB
Z + Stroke
Rod end nut
d
)
\\) O ——}‘
L%
Material: Iron
PartNo. | B | g | ¢ d H
size
NTJ-010A| 10 7 |81 |M4x07][32
NTJ-015A| 16 8 | 9.2 [M5x08]| 4
(mm)
Bore A B C GA | GB H KA L LB LD LH | LX MM NA | NB X Y S A
10 15 | 12 | 14 | 16 5 20 | 4.2 | 23 | 16 |35 6.5Depthof counterbore:4| 8 12 | M4X0.7 [205] 9.5 | 28 8 54 | 74
16 15 | 18 | 20 | 16 5 20 | 5.2 | 26 | 20 |@45, o8Depthof counterbore:5| 10 16 | M5X 0.8 [20.5]| 9.5 | 28 8 55 | 75
1.3-68

O
:



Non-rotating

Rod/Direct Mount:

Single Acting Spring Return/Extend

Series CJ2RK

210, 916

How to Order

CJi
® Standard stroke (mm) —
Bore size o @10 [ 15, 30, 45, 60 CJP
10| 10mm 916 |15, 30, 45, 60, 75, 100, 125, 150 —
16 | 16mm
i = Action
CV Mounting S | Single acting/Spring return CM2
A | Bottom mounting T | Single acting/Spring extend
C85
C76
Standard CJ2RKA|16—45||S P
T T T T €61
WIGETTSTIEN CDJ2RKA|16 —45||S|| H—HC73 MB
MB1
With auto switch ® Number of
(built-in magnet) switches CP95
. Auto switch = 2 —
Port location on head cover ORefer to the table below for S 1 C95
Symbol Port location selecting applicable auto switches. n n I
_ Perpendicular 0If requiring a built-in magnet Cco92
R In-line cylinder without an auto switch, ——
- - refer to the model number example
ORefer to p.1.3-67 for the configuration. below CA1l
ONot applicable to single acting/spring ' —
extend (T).
CsSl

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

Part No. of Cylinder with Built-in Magnet

5 Load voltage Auto switch model Lead wireu(m) licabl
. . i ® | Wiri - Applicable “_pn f . u_pn
Style| Special function E':gg'yca' g (od?,;?t) be 6 || o Rail 05 | 3| 5 [nong[ “PReS Symbol *-A Frall mounting) or 'B
= Perp. | In-ine | & [O[@] M) (band mounting) should be suffixed to the
?NVF\QIIZS —| sv o c76 _ |a76H | @ |@|—|—| 1c | — part No. of the cylinder with auto switch.
<
2] Grommet['*® T 200V — | A2 |[AT2H| @ |@|— || £, | Rail mounting |CDJ2RKA16-60S-A
2 ] 12v | 100v | C78 | A73 |A73H | @ |@|@|— Band mounting | CDJ2RKA10-455-B
8 No 2 vire 5V,12v| <100V | C80 | A80 |A80H | @ (@ |—|— | IC |Relay
2 comector €1 24v| 12v | — |C73C|A73C| — | o |@|®@|®| — | PLC
No 5V,12V| <24V | C80C | ABOC | — ® 006 cC
D'agmsgglg,"u?;ca“m Grommet|Yes — — — |ATOW| — ® e —|—|—
3 wire (NPN) sv iy — H7A1 | FINV| F79 | @ (@ |O|— c
Grommet| | 3 wire (PNP) ' H7A2 | FIPV| F7P | @ |@|O|—
< ) H7B | F7BV | J79 | @ |@|O|—
S 2 wire 12V — —
e Connector H7C |[J/19C| — | @ @/@e|®
2 Y] H7NW | F7NWV| F79W | @ |@ |O|—|
o Diagnostic indication : ’ . _ Relay
g (2 colour) Yes e BN, 4 H7PW F/PW . ® (@O PLC
7] H7BW |[H7BWV| J79W | @ (@ | O|—
° - 2 wire 12v
= Water resistant —
3 & oy |Grommet — |H7BA| — |F7BA| — |@|O|—
With timer 3 wire (NPN) — — |FEINT | — |@|O|—
5V,12V IC
et P! 4 wire HINF| — |F79F | ® |(@|O|—
Latch with diagnostic output
w‘(cho\our)‘ " (PR - HLF| — |FLF | @ (@10~ | —
OLead wire length 0.5m--eees — e.g.) C73C |1 EETRERRORRD Z e.g.)C73Cz
o1 | EEPPRRPRRS L C73CL  None: - N C73CN

OSolid state switches marked with“ O " are manufactured upon receipt of order.

O
:

1.3-69



Series CJ2RK

Specifications

Non-rotating rod with

hexagon rod.

High non-rotating accuracy

210: £1.5°, g16: +1°

No lubrication required

Auto switch can be mounted to
detect the cylinder stroke position.

Action Single acting/Spring return | Single acting/Spring extend
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.15MPa

Ambient and fluid temperature

Without auto switch: =10°C to 70°C, With auto switch: =10°C to 60°CD

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance 10

Non-rotating accuracy

210: £1.5°, @16: +1°

Mounting

Bottom mounting

Bore size (mm)

210, 916

Piston speed

50 to 750mm/s

Allowable kinetic energy

210

0.035J

216

0.090J

ONo freezing

Standard Stroke

(mm)
Bore size Standard stroke
10 15, 30, 45, 60
16 15, 30, 45, 60, 75, 100, 125, 150

Minimum Strokes for Auto Switch Mounting

 Refer to p.1.3-57.

Accessory/Rrefer to p.1.3-12 for details.

Standard

Rod end nut

JIS symbol

Option Single knuckle joint, Double knuckle jointD

ODouble knuckle joint is packaged with pins and rings.

Auto Switch Mounting Bracket Part No. (Band mounting)

Single acting/
Spring return

Single acting/
Spring extend

_®—/AVA /\/\ Bore size Bracket part No. Note
(mm)
| 10 BJ2-010 Common use to all of D-C7,
16 BJ2-016 C8 and D-H7

Note) A set of stainless steel mounting screws “BBA4” is attached.
(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL" switch is set on the cylinder with the screws above
when shipped.
Also, when a switch only is shipped, “BBA4” screws are attached.

A\ Precautions

e ————— Spring Force -
1 Refer to p.1.3-36 before -: Bore size Retracted | Extended
1 handling. 1 (mm) side side
e e e e == d 10 6.86 353
16 14.2 6.86
1.3-70

O
:



Non-rotating Rod/Direct Mount: Double Acting Spring Return/Extend Series CJ 2R

Weight
Spring Return © Spring Extend ©
Bore size (mm) 210 216 Bore size (mm) 210 216
15 Stroke 38 73 15 Stroke 44 78
30 Stroke 45 90 30 Stroke 50 94
45 Stroke 54 12 45 Stroke 59 114
WeightD 60 Stroke 63 134 WeightD 60 Stroke 67 135
75 Stroke — 155 75 Stroke — 154
CJ1
100 Stroke — 198 100 Stroke — 192 —
125 Stroke — 234 125 Stroke — 226 CJP
150 Stroke — 260 150 Stroke — 250
OThis weight includes weight of rod end nut. OThis weight includes weight of rod end nut.
CM2
Construction (The cylinder cannot be disassembled.) C85
C76
Single acting/Spring return a0 D) a ® © @2 @
3 CG1
@g MB
L MB1
—) \ 77 |—-—D‘ LI\"EI*_G Py
EP e \_rj\ CP95
C95
C92
CAl
) . . CS1
Single acting/Spring extend @ 14 (1/\ 2 G @ ® B O @ -
X / //
= L =
S == \J
&
Component Parts
No. Description Material Note No. Description Material Note
@® Rod cover Aluminum alloy White anodized ©® Bumper Urethane
@ Head cover Aluminum alloy White anodized Rod end nut Rolled steel Nickel plated
® Cylinder tube Stainless steel (@) Piston seal NBR
@ Piston rod Stainless steel @ Tube gasket NBR
® Piston A Brass ® Piston gasket NBR
® Piston B Brass Rod seal NBR
@ Return spring Piano wire
Spring seat Brass

O
:

1.3-71



Series CJ2RK

Single Acting/Bottom Mounting

Spring return/CJ2RK | Bore size |4 Stroke | S| Port location on head cover

X
. Rod end nut Y Bleed port GB_ Piping port M5 X 0.8
Piping port MM o) —
& 7Y oo
N\ i e 75N B
: 1 - / —_— -G - -
OB EE; - ﬁ—m
i LH
Port I?fl:atllpn 02 head A NA NB _._EIB N2alD  Bsdcnes
cover: In-line (R) H S + Stroke section
Z + Stroke
Spring extend/CJ2RK | Bore size H Stroke | T
i X + Stroke |
»
GA,
Rod end nut Y
MM i Piping port M5 X 0.8 Bleed port
% N\ &
(2 ] = Y |
) a7 .
OB __T ‘N
A NA I NB \
H + Stroke S + Stroke B £:0LD
Z + 2 X Stroke
Rod end nut
d
o
&1
B _..—LH _
Material: Iron
Part No. | Bore B © d H
NTJ-010A| 10 7 |81 |M4X07]| 3.2
NTJ-015A] 16 | 8 | 9.2 [M5x038] 4
(mm)
Bore A B C GB H KA L LB LD LH LX MM NA NB X Y
10 15 12 14 5 20 4.2 23 16 |#35 06.5Depth of counter bore: 4| 8 12 M4 X 0.7 135 | 95 28 8
16 15 18 20 5 20 5.2 26 20 | @45, o8Depth of counter bore: 5| 10 16 M5 X 0.8 13.5 9.5 28 8
Dimensions by stroke/Spring return
Zymbo, S V4
0
Bore e 510 15|16 to 30 [ 3L to 45|46 to 60|61 to 75 | 76 to 100 | 101t0125]|126t0150| 5 to 15|16 to 30| 3L to 45|46 to 60| 61 to 75 | 76 to 100 | 101 to 125 | 126 to 150
10 53.5 61 73 85 — — — — 73.5 81 93 105 — — — —
16 53.5 62 74 86 92 116 134 | 146 | 73.5 82 94 106 | 112 | 136 | 154 | 166
Dimensions by stroke/Spring extend (Dimensions not mentioned in the below table are the same as the above table.) (mm)
Bore GA | NA | NB S z
510 15(16t0 30|31 to 45 |46 to 60|61 to 75 |76 t0 10010110 125[ 12610150 |5 to 1516 to 30 | 3L to 45 |46 to 60| 61 to 75|76 to 100 101 to 125 | 126 to 150
10 16 | 205 | 55 | 56.5 64 76 88 — — — — 76.5 84 96 108 — — — —
16 16 | 205 | 55 | 565 65 77 89 95 119 | 137 149 | 76.5 85 97 109 115 | 139 | 157 169
1.3-72
ZS\VC



	Index
	Volumen 1
	Solenoid Valve
	4/5 Port Solenoid Valve
	3 Port Solenoid Valve

	All Air System
	4/5 Port Air Operated Valve
	3 Port Air Operated Valve
	All Air System Equipment

	Process Valve
	Power Valve/Silencer

	Volumen 2
	Standard Air Cylinder
	Standard Air Cylinder
	Standard Air Cylinder (Compact style)

	Combination Cylinder
	Cylinder with Lock
	Cylinder with Table
	Guide Cylinder
	Non-rotating Cylinder
	Rodless Cylinder

	Specialty Cylinder
	Related Products
	Technical Data

	Volumen 3
	Rotary Actuator
	Air Gripper
	Vacuum Equipment
	Flow Control Equipment
	Other Actuators

	Volumen 4
	Air Line Equipment
	Fittings and Tubing
	Detection Switch
	Air Preparation Equipment





